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The 22nd edition of National Conference on e-
Governance 2019 will be held in

:f,‘_—TEﬁH 2019 WX I GHIH &l 22

SR |

(a) Shillong/fRTe3T
(c)Itanagar/3 eT-IR
Ans(a)

Which country will host the WorldSkills
International Competition 2019?

I a1 <9 fava yforafiar siaxisa
gfrnfiar 2019 @Y AsErE HRAT?

(b)Patnan/g<c+T
(d). Agartala/3 TR d eIl

(@) Russia/¥ (b) India/ATRd
(c) UAEJTS (d) Singapore/fHITYR
Ans (a)

India has launched the initiative ‘Innovating for
Clean Air’ (IfCA) in partnership with which
country?

AR A &9 o & arer AEisry §
AT BR ol QIR (IFCA) Ugd g%
Pl B?

(a)Russia/d

(b) United Kingdom/gATscs fhTsH

(c) Japan/sITdaT-T

(d) Australia/3TTs, fer=im

Ans (a)

Who has been appointed as the new Finance
Secretary?

v fag afe & wu 4 &4 Fgea fea
T 87

(a) Subhash Chandra Garg/g9Ts d& 31

(b) Hasmukh Adhia/gaq@ 3Tferam

(c) Rajiv Kumar/RTofld R

(d) Rajiv Mehrishi/RTstia dafReft

Ans(c)

Who has been nominated by the Appointment
Committee as a Director on the Central Board of

Directors of RBI to replace Subhash Chandra
Garg?

AN 9% T B o8 o4 d fay RBI B
a4 feys Asa A FReed @ WU H
rafea afafa grr fea aifa fear =
2|

(a)Atanu Chakraborty/3Td<] ashddi

(b) Anil Kumar Khachi/3Tfeiel ®HR @rl

(c) Ajay Kumar Bhalla/3TsTd |HIR Heell

(d) Ajay Kumar Bhalla/3iZ[9bTT

Ans(a)

V G Siddhartha who died recently after
committing suicide was the founder of

A S fagref, R gra & o oI

(a) Burger King/dii= f&r

(b) Bikanervala/dT&T=RaTe

(c) Cafe Coffee Day/®®h ®THI S

(d) NESCAFE/H®®

Ans(c)

World Wide Web Day is celebrated on which
date?

fagg aamdY 49 fegw foa aifg &1 99

SITdT 27

(a) August /13T

(b) July 31/31 ST

(c) July 30/30G] TS

(d) First Thursday of August 3T¥d T Ugell
HAR

Ans(a)

The National Traders’ Welfare Board has been

constituted by which Ministry?

TS ATIRY HAT0T 913 fod F3Tad
g1 fea fear ar & 2




10.

11.

12.

13.

(a) Ministry of Commerce and Industry/ﬂTﬁlF!I
AR IENT HATd

(b) Ministry of Human Resource
Development/qT<id |HTEH {d®brd #ATAd

(c) Ministry of Labour and Employment/3TH 3R
ISR HATAd

(d) Ministry of Corporate Affairs/2Te~I fadTrg
ATl

Ans(a)

According to CRISIL, what is the latest GDP

growth prediction of Indian economy for FY20?

CRISIL @ 3R, FY20 & fery Wk
refegaelr @) 9di9a9 GDP fasrg gv &IT
2?

(@) 7.2% (b) 6.7%
(c) 7.0% (d) 6.9%
Ans(d)

Recently, Postal Department has decided to
convert the India Post Payments Banks into _.

gl 81 H, 8% fawrT 3 gfear uie

9qcH d@l &l '

Gl fear 2

(a)Scheduled Commercial Bank/3T g f=rd
aiftiisas 9@

(b) Small Finance Bank/eig], faca 9@

(c) Cooperative Bank/Gg®I '@

(d) Non-Banking Finance Company/ﬁ‘\'—a'ﬁfﬂ
faea syt

Ans(b)

Who has been appointed as the interim Director

General of the Narcotics Control Bureau (NCB)?

IR®IEH Hgiad G (NCB & 3iaiA

Helf-eers @ wu 4 fed Frgea fear T

4

(a) Rakesh Asthana/RT& 3T SRATHT

(b) Abhay/31Ha

(c) Nrupendra Sahoo/ UG ¥Tg,

(d) Ranjit Sinha/Isiia Ri==sT

Ans(a)

Who among the following was awarded with the

'‘Entrepreneur of the Year Award, 2019 in the

service business (BPO/KPO) category?

fr=fefRaa % 9 fed Qa1 sgaamw (BPO

/KPO) #Atfl § "Tey=Ii} 3M% § FAX

4TS, 2019 9 WA fovar rar 87

(a) Sudarsan Patnaik/ g&2-T TeATI®

(b) Meryl Streep/AfRe €q

(c) Ruhan Rajput/%&T- XTolyd

(d) Ravinder MalikRfager Afer®d

Ans(c)

DD News channel bagged Champions of empathy

award. Who is the Director General of DD News?

(2)

14.

15.

16.

17.

18.

31 31 o A9d A AfEE 3w wArgfa
gD SofIdT |

(a) Mayank Agarwal/d® 3 dicl

(b) Hruday Chatuvedi/gad agddl

(c) Maneesh Pandey/=Is qTvs ¥

(d) Saurabh Devasena/SiXH < aaT

Ans(a)

The 4th South Asian Speaker’s Summit will be
held in which country?

4" e TREE Wik &1 RreR w e
foa <o 9 amafoa fear smen?

(a) Japan/SITaT= (b) Maldives/HTerdld
(c) Sri Lanka/sfreiabT (d) Singapore/fRATTYR
Ans(b)

Who among the following has won the gold
medal in Men's Rifle 3 Positions at 12th Sardar
Sajjan Singh Sethi Memorial Masters
competition? fr=ferRaa & | feas 12 oY
¥eR Houd Rig 9d auiRaa aresd
yfoifrar 4 g&ol &1 5% 3 usl A
w@vf ggd Sfiar 2 |

(a) Tinjit Dhanota/fa=Tofia e-Ter

(b) Abbas Ansari/3TsaTd IIHRY

(c) Aishwary Pratap Singh/S¥aatydary Rig

(d) Karam Lehal/@?¥ oigel

Ans(c)

When is the World Breastfeeding Week held?
faeq ¥au W« &9 AmAifora fean
SITar 87

(a)August 1-7 /1-7 3TET

(b) July 25-31 / 25—31 Sl

(c) August 10-17/10—17 3T

(d) July 30-August 5/ S[Tg 30—3 T 5
Ans(a)

Who is the head of the reconstituted Group of
Ministers (GoM) on Mob lynchings?

w9 feifar wr gifea a9z (Gomy®T uyqgw
B 2 |

() Ravi Shankar Prasad/Rfagi®R

(b) Amit Shah/3TfeT 28

(c) Nitin Gadkari/fFIfesT TTs&$

(d) S. Jaishankar/Td STIIIHY

Ans(b)

Governmentt launched One Nation-One Ration
Card scheme on a pilot basis in 4 states. Which
among the following is NOT one of them?
ARA A 4 A H UTIele MUR W a1
YA A BTS AT FH B |
fr=ifafaa & 9 @19 91 S99 9 & 181
a7

(a) Telangana/A < IITHT

(b) Andhra Pradesh/3IT&I9<2T




19.

20.

21.

22.

23.

24.

(c) Maharashtra/HgIRTS¢

(d) Madhya Pradesh/e 4<31

Ans(d)

The ‘Save Green, Stay Clean’ campaign has been
launched by which state to preserve the greenery
of the state?

d9 P, ¥ Feliq A= foa I gy
I @1 ATl |12 &4 @ fay g«
foar am 27

(a) West Bengal/afar®1 €3rmet

(b) Mizoram/firsTia

(c) Andhra Pradesh/3TTsl 4= 2T

(d) Maharashtra/HeTRTb¢

Ans(a)

Journalist and News Anchor Ravish Kumar was
recently awarded the prestigious Ramon
Magsaysay Award. Ramon Magsaysay was a
former president of .
TFHR 3N AR GHY I FAR Bl
gl 31 d gfafed 3 47449 (R 49

worfera fear mar 2 xua 449

........ & yd wsg—ufa o |
(a) Thailand/aTSets  (b) Vietnam/faaa=ma
(c) Singapore/lRITTYY  (d) Philippines/fiefidi¥

Ans(d)

According to the data by the World Bank, India
has emerged as largest economy in
the global GDP rankings in 2018.

favq 9% @ sidsl & JFUR, AR 2018
# dRas Sfia IfeT o a9l 991
JefeyaRerr @ ®9 9 SHRT 2 |

Rk o
c
Ans(b)

Based on the Water Stress Index 2019, India is

the highest risk country globally in

water crises

qIe} I IS 2019 & AR WX, HRA
) . \

fSres SNRgw arem 391 87

(a) 50" (b) 46"
(c) 3(2b”)d (d) 68"
Ans

Malcolm Nash who passes away is associated
with which sports?

Hewpd Aw fraar gra & 4 = 8
2 98 f%9 I 4 T 8?2

(a)High Jump/8T$ ST (b) Badminton/dsfiic
(c) Cricket/fss®de  (d) Archery/dIRgTSh
Ans(c)

Government has introduced a new mobile app
namely in order to to assist
farmers

(3)

25.

26.

217.

28.

WPR A feal & ger«ar & fod
dM 9 U FAT Hidisd U9 UIT
fear 2

(2) Ghana/gIT=T (b) Vrishti/gfte
(c) Varsha/ast (d) Meghdoot/Terga
Ans(d)

Which state has launched the ‘Vhali Dikri
Yojna’, scheme for the welfare of girl child?

foa o § qifasr seamor @ fag qef
feaq Ao g @ =Y )

(a) Gujarat/T ST (b) Maharashtra/HgIRTSg
(c) Madhya Pradesh/fEa9 < 21(d) Punjab/gSITd
Ans(a)

President Kovind was recently honoured with
National order of Merit, the highest award of
which nation in the African Continent?

Ul Bifds &l 81l &1 § AeFd 3TSy
I ARe d wwnfa fear wan, e
AerdId ¥ 5 Q9 &1 wal=a TR 2

(a)Ghana/&IT_T (b) Niger/qiTgsIR
(c) Senegal/A= et (d) Guinea/Rr=ft
Ans(d)

The QR-SAM surface-to-air missile was
successfully test-fired by India on August 4, 2019.
The missile has been developed by DRDO and

RIIR—YAYYH Hae ¥ g4l gal 4 AR

&3 arefl fETgd &1 4 3R, 2019 &1

ARA §RT A% odrydd uleror fear wam or

39 firga @1 DRDO AR AN

fasfia fear ar 22

(a) Bharat Dynamics Limited/¥Rd STa- e

S

(b) Hindustan Aeronautics Limited/ﬁ:fgﬁrﬁ
gaqeTiag fafics

(c) Bharat Electronics Limited/¥HTRd 2l
safdc s fafics

(d) Bharat Heavy Electricals Limited/HTRd adl
gafdc s fafics

Ans(c)

Who among the following has bagged the gold in

Women’s 53 kg category the Poland Open

wrestling tournament?

f=fafaa & @ feaa afeeren & 53
feur @ A uids oua g <fde o
et Sfiar 87

(a)Ritu Phogat/Rg ®wITTe

(b) Vinesh Phogat/fasier wire

(c) Neha Rathi/<I&T TSt

(d) Alka Tomar/sTdsitd ®IX

Ans(b)




29.

30.

31.

32.

33.

34.

35.

(4)

Devadas Kanakala who passed away recently was
a veteran actor of which filindustry? Bd<T™
Fabdl foar g1 &1 A ga 81 T, 98
foa foen ST & favre siffEar 947

(a) Telugu/de L (b) Malayalam/3Ter=ITerH

(c) Marathi/ARTSY  (d) Bengali/dTTell

Ans(a)

Anant Setalvad who passed away recently was a
veteran commentator of which of these sports?

Id Adedrs -a1 g1 €1 ¥ e 8
T, 34 9 P9 @d & AgHdl diceR
S|

(a) Football/®cdiel (b) Golf/iTie®

(c) Hockey/gTdY (d) Cricket/fhac
Ans(d)

What was the profession of Kanti Bhatt who died
recently?

Fifa wg &1 v @ o1, el g1t & 7
g B Mg?

(a)Actor/3Tf¥=rar (b) Scientist/d=ITfT®
(c) Journalist/ 9T ®IR (d) Painter/dex

Ans(c)

Which city will host the 2019 Regional
Conference on Good Governance?

AT TR 2019 &A™ =i DI AGErH
P9 AT BT HRIAT?

(a) Kolkata/®IedTdT  (b) Jaipur/SIRIYR

(c) Indore/STIR  (d) New Delhi/-i$ faeetl
Ans(b)

Professional cricketer Daniel Vettori has
announced to retire from all forms of competitive
cricket. He represented which country?

IR fhaex Staa faeidt 3 9t yar
9 yfruelf fvdpe 9 G~ @9 @ wivon
31 2 | SsSB4 fea <u &1 yfafafera fear
(a) England/3 oS

(b) South Africa/<faroT 3rfthaT

(c) Australia/3mmee feran

(d) New Zealand/=JSiicl §

Ans(d)

Fast bowler Dale Steyn has announced his
retirement from Test cricket He represented
which country?

a4l dre Soived | ¢¥e foae |
[T A9 B "I &Y Seia few <9
&1 gfaf-ierea fear?

(a) England/’3 TS

(b) South Africa/aITSeT 3AfH T

(c) Australia/3mmeg feran

(d) New Zealand/=sticl $

Ans(b)

The August 2019 subscription of the Sovereign
Gold Bonds 2019-20 is which series of the bond?

36.

37.

38.

39.

40.

IMTET 2019 @ HidRA es 959 2019—
20 @ gewdl fea dfs @1 ga@ar 87

@) Ml (b) 1l
(c) IV (d) VI
Ans(a)

Name the person who Crosses English Channel
on Hoverboard on 2nd Try.

<4 fdd &1 9 qargd A glawers
R GER 9ITE | IAUS A9 @l UR
feoar?

(a) Franky Zapata/% &1 STuTCT

(b) Ronaldo Jerkin/RT-TesT Sifdb

(c) Keroin Watson/®1 el dfc¥

(d) Danniel Williamson/S ferarer faferars =
Ans(a)

Dwayne Johnson, has officially announced his
retirement from World Wrestling Entertainment

(WWE) He is popularly known as
g4+ Sifqad, 1 freie AR W acs

afdiT gexenie (WWE & 3+l
Jarfgia & avon ) 2| 5= Al
WY W — ® Wy B ST Wrdr 2 )

(a) Kane/@

(b) The Rock/e XTdh

(c) The Undertaker/& 3iSICHY

(d) Big Show/fa T =1t

Ans(b)

When is National Handloom Day observed
annually?

I BAHRET feaq b FA1-AT SITdr 272
(@) August 3/3 3MTET  (b) August 4 / 4 3TEd
(c) August5/5 3T (d) August 7/ 7 3T
Ans(d)

Which of the following nation has been

designated as a Currency Manipulator by the
United States of America?

GYh g MRPT g1 Fre=fafea 4 4
f| <o &1 qo1 Afayce & w9 A arfia
foar ar 27

(a) Pakistan/dTf=daT=T  (b) Japan/SITaT=

(c) Australia/3meg ferar  (d) China/d=

Ans(d)

Who has taken over as the new director of 10C.
cHgSil @ ¢ oo © w9 | feaq
UQHR GHTCT

(a) Rajesh Kumar Srivastava/RToleT HHR

(b) A K Dwivedi/¥ & fgad

(c) Sandeep Kumar Gupta/S g GHIR T[T
(d) AK Sharma/@ i

Ans(a)
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ENGLISH

Directions (Q. Nos. 1-9) In this section three short
passages, you will find several question based on the
passage. First read the passage and then answer the question
based on it. Give you answer on the basis of information
given in the passage and opinion of the author.
PASSAGE - |

Computers have become indispensable in the modern
times. From information to having fun, you can possibly do
everything with the help of this amazing machine. For the
modern day child, computers are vital and the amount of
time that they devote on them has constantly been on the
rise. One of the most popular things with children when it
comes to the computer are video games or the computer
games. From puzzles to racing, action to sports, strategy to
adventure, computer games are possibly the biggest
addiction with most children. With companies such as Sony
and Microsoft going all out to promote Xbox and Play
station to children worldwide, the allure to these games has
only got better. These video games not only help in making
child's brain sharper through mental stimulation but it also
helps relieve them of anxiety or pain. In some cases, games
have proved to aid in dyslexic kids reading better. Since
adults also love playing games, it can be a time of bonding
between adults and children, increasing the amount of time
spent together especially when time spent by parents and
children is very less nowadays. On the other hand, the
addiction to these computer games can severely harm the
child. Since children keep on playing for long hours, it can
lead to eye damage. The impact of excessive visual medium
is evident as a large number of children these days start
wearing spectacles from an early age. Long hours of playing
computer games can also result in headaches and dizziness.
1. One of the most popular things with children when it

comes to the computer?

(A) Xbox and Play station

(B) Video games or the computer games

(C) Puzzles to racing

(D) Action to sports.

2. According to the passage, which of the following
statements is NOT TRUE?
(@) Video games can be bonding time between adults
and children.
(b) Long hours of playing computer games can result
in strengthening of eyesight and figure muscles.
(c) Sony and Microsoft promote gaming.
(d) Addiction to computer games can severely harm
the child.
3. How has gaming been beneficial to dyslexic kids?
(@) It has supported dyslexic kids in reading.
(b) It has helped them in wearing spectacles from an
early age.

(c) It has become indispensable for them.
(d) It has helped them in bond with their parents.
PASSAGE - 11

Geography forms a part of social sciences and is one of
the fields which is now heading towards a scientific form.
Change is the law of nature and is also the fundamental of
development and progress. Geography has passed through
many stages and it was only in 1905 that geography was
accorded an important place in the curriculum. Prof. A.Z.
Herbertson contributed a lot in this development of
geography. Nowadays geography means description of
earth. Since earth is full of various things which could not
be studied in isolation, it is quite difficult to describe
everything we find on earth. Thus to overcome these
difficulties certain principles have been formulated. These
days an attempt is made to study earth as the home of man.
Keeping this in view Prof E.A. Macnee has defined
geography, "so, to give more explicit definition, Geography
is the study of earth as the home of man or in other words
geography is the study of the environment of man; physical,
social, particularly in its relation to human activities". Prof.
J. Fairgrieve defines Geography as, "The function of
geography is to train future citizens to imagine accurately
the conditions of the great world stage and so to help them
to think safely about political and social problems in the
world around"
4. According to the passage, what is true about

Geography?

(a) Geography is changing its law of nature.

(b) Geography is heading towards scientific form

(c) Geography is a must read subject

(d) Geography is one of the loathed subjects.
5. According to the passage, who contributed towards the

development of Geography?

(A) Prof. A .Z. Herbertson (b) Prof. J. Fair

(c) Prof E.A. Macnee (d) Human activities
6. When was Geography awarded an important place in

the curriculum?

(a) When f unction of Geography was defined

(b) 1885

(c) 1905

(d) 1995

PASSAGE - 111

Ruskin Bond is an Indian author of British descent.
India's most adored writer Ruskin Bond, was born in
Kasauli. Bond spent his early childhood in Jamnagar and
Shimla. At the age of ten, Ruskin went to live at his
grandmother's house in Dehradun after his father's death
happened year from jaundice. Ruskin was raised by his
mother and stepfather. He did his schooling from Bishop
Cotton School in Shimla, from where he graduated in 1950




after winning several writing competitions in the school
including the Irwin Divinity Prize and the Hailey Literature
Prize. He wrote one of his first short stories, "Untouchable”,
at the age of sixteen in 1951.He moved to London and
worked in a photo studio while searching for a publisher.
After getting it published, Bond used the advance money to
pay the sea passage to Bombay and settle in Dehradun.
Since 1963 he has lived as a freelance writer in Mussorie, a
town in the Himalayan foothills in Uttarakhand and lives
with his adoptive family in Landour, Mussorie's Ivy
Cottage, which has been his house since 1980. About what
he likes the most about his life, he said, "That | have been
able to write for so long. | started at the age of 16 or 17 and |
am still writing. If | were not a professional writer who was
getting published I would still write." In his essay, "On
being an Indian", he explains his Indian identity, "Race did
not make me one. Religion did not make me one. But
history did. And in the long run, it's history that counts."
7. Ruskin Bond .
(@) isaBritish Author
(b) was born in Jamnagar
(c) isan Indian because he was born in India
(d) has won several prizes for his contri bution towards
literature
8. In 1980, Ruskin Bond settled in Mussorie, what do you
think was his age by then?
@ 29
(b) 39
(c) 45
(d) Cannot be determined, on the basis of information
given in the passage.
9. According to Ruskin Bond, why is he an Indian?
(a) Because his parents have always lived in India.
(b) Because he has a history with India.
(c) Because he owns a house in India.
(d) Because he was raised by his stepfather, an Indian
Hindu.
Directions (Q. Nos. 10 - 19) Find synomym of the given
word.

10. Ache

(a) Comfort (b) Ease

(c) Suffering (d) Relief
11. Adore

(a) Hate (b) Admire

(c) Aversion (d) Dislike
12. Aerial

((a) Ground (b) Elevated

(c) Settle (d) Level
13. Agony

(@) Torture
(c) Happiness

(b) Success
(d) Soundness

14. Blaze

(@) Glow (b) Calm

(c) Numbness (d) Unconsciousness
15. Rigid

(a) Limber (b) Lax

(6)

(c) Inflexible (d) Pliant
16. Stagnate

(a) Fester (b) Grow

(c) Persuade (d) Terminate
17. Restore

(a) Reconstitute (b) Soil

(c) Complete (d) Injure
18. Regain

(a) Forfeit (b) Worsen

(c) Ruin (d) Attain
19. Defer

(a) Hurry (b) Support

(c) Aid (d) stall

Directions (Q. Nos. 20 - 30) Choose the right Antonym of

the word given in bold letters.

20. Trigger

(a) Spark (b) Activate

(c) Halt (d) Provoke
21. Persistent

(a) Bound (b) Lazy

(c) Constant (d) Steady
22. Reinforce

(a) weaken (b) Boost

(c) Carry (d) Energize
23. Rage

(a) Heat (b) Happiness

(c) Temper (d) Wrath
24. Optimize

(a) Enhance (b) Perfect

(c) Worsen (d) Improve
25. Valour

(a) Fear (b) Heroism

(c) Bravery (d) Endorse
26. Sanguine

(a) Hopeful (b) Confident

(c) Buoyant (d) Depressed
27. Solicit

(a) Entreat (b) Answer

(c) Approach (d) Accost
28. Remorse

(a) Regret (b) Lament

(c) Introspect (d) Satisfaction
29. Aversion

(a) Indifferent (b) Dislike

(c) Apathy (d) Fondness
30. Drift

(a) Stumble (b) Float

(c) Slide (d) Scud

Direction (Q. Nos. 31 — 40) You have been given a
sentence in which there is some error. You are required
to find out that part of sentence and mark it as your
answer on the answer sheet. Error may be related to
grammer, construction usage or anything else.




31. What a comfort to see that you (a)/ have organizing and
planning (b)/ everything for us. (c)/ No Error (d)

32. Please note that you will be eligible for (a)/ the voucher
only if you (b)/ had received this email. (c)/ No Error

(d)

33. We take security very seriously and (a)/ we want to
keep you in the loop on (b)/ important actions in our
account. (c)/ No Error (d)

34. If you would still accepting posts, please (a)/ let me
know so that | can put together (b)/ a draft for your
approval. (c)/ No Error (d)

35. Intrigued by this (a)/ problem, | began search (b)/ for a
solution. (c)/ No Error (d)

36. There is something (a)/ stored in for (b)/ everyone. (c)/
No Error (d)

37. We might supply so (a)/ much evidence in try to explain
(b)/ it in so many ways. (c)/ No Error (d)

38. We hope devotees will (a)/ participate in the event and
(b)/get spiritually benefit. (c)/ No Error (d)

39. My friend Sahib (a)/ is one of the best football player
(b)/ in the country. (c)/ No error (d).

40. When she left the (a)/ house at 10 o'clock her (b)/
daughter was still at home. (c)/ No error (d).

Directions (Q. Nos. 41 - 50) In the following items, some

parts of a sentence have been jumbled up. You are

required to rearrange these parts which are labeled P, Q,

R and S to produce the correct sentence. Choose proper

sequence and mark in your answer sheet.

41. India surprised
P: the world's fastest
Q: growing major economy
R: the world by becoming
(a) RPQ (b) RQP
(c) POR (d) QPR

42. We can save paper
P: in electronic format
Q: and by not printing emails
R: by keeping documents
(2) QPR (b) PRQ
(c) RQP (d) RPQ

43. Some people
P: the presence of pears
Q: feel intimidated by

R: during the learning process

(a) PRQ (b) QPR

(c) RQP (d) RPQ
44. The object

P: is undoubtedly

Q: something fairly new

R: of adaptive e-learning

(@) POR (b) QRP

(c) RQP (d) RPQ
45. Walking is the

P: exercise to

Q: best form of

(7)

46.

47.

48.

49.

50.

R: remain healthy
(a) RPQ

(c) PQR

People who look
P : to support their beliefs

Q : down on abstract art

R : have several major arguments
(@) PQR (b) RQP
(c) QRP (d) PRQ
Biologists are often

P :arigidly deterministic

Q : approach to behaviour

R : accused of taking
(@) PQR

(c) QRP

The India we inherited
P : that we have bequeathed our

Q : was wonderful, but the one
R : children is degraded in ever y way

(b) QPR
(d) RQP

(b) RPQ
(d) PRQ

(@) QPR (b) RQP
(c) PRQ (d) QRP
There is

P : getting defensive

Q : about our failure

R : no point

(a) PRQ (b) PQR
(c) RQP (d) RPQ

The reformer must know
P : people is the authentic

Q : that what moves
R : life, not mere writing

(a) QRP (b) RPQ
(c) QPR (d) PQR
ANSWER KEYS (ENGLISH)
1|(B|11|B|21|B|31|B|41|A
2 |B|12|B|22|A|32|C|4|D
3|A|13|A|23|B|33|C|43|B
4 |B|14|A|24|C|[34|A |44 |D
5| A|15|/C|25|A|35|B|45|B
6 |C|16|A|26|D|[36|D|46|C
7 |D|17|A|27|B|37|B|47|B
8 |C|18|/D|28|D|38|C|48|A
9 |B|19|D|29|D|[39|B|49|D
10{C|20|C|30|A|40|D|50|C




HRA Seaedl | POLITY
45 MCQ'S 3iid Ageagdi Gea | Most Important Questions

1. The office of the ‘Whip’ is mentioned in:

‘9’ & FATT F # seaw R §:
(a) Constitution of India./ {Rd &1 AL
(b) Rules of the house./T@#T & e

(¢) In a separate Parliamentary Statute./ Teh
37T TG Taem &

(d) None of these/ T8 & FIS TgT

Ans.(d) Sol. In India, the party whip directs
the party members to stick to the party’s
stand on certain issues and directs them to
vote as per the direction of senior party
members. Whip cannot be used in all cases.
For example, Political parties cannot issue any
direction or whip to members to vote or not in
Presidential poll. The implication of a not to
follow a Whip on Member’'s part is to risk
losing their seat in Parliament on account of
defection. The office of Whip, in India, is
mentioned neither in the Constitution nor in
the rules of the house, nor in the
Parliamentary statutes. It is based on the
conventions of the Parliamentary government.

2. The Representatives of states & UT in the

Rajya Sabha are elected by:

TTaHT # A1 3R Fgenfa vt & gfafafr
e garr e R o @2

1. The members of the State Legislative
Assembly only./ $ad T U THT & TETT.
2. The elected members of the State
Legislative Assembly only./ &ae TsT RA4mr

AT F A9RT g

3. The system of proportional
representation by single transferrable

vote./ Tehel §EATaRYT AIE GaRT JTearfah
gfafafaea i yomel.

4. The system of proportional
representation by List./ ¥= gaRT smequrias
gfafafaea i gomeht

(a) 1 &3./13R3 (b)y1&4./13R4
(c)2&3./723R3 (d)2&4./23R4
Ans.(c) Sol. The Rajya Sabha or Council of
States is the upper house of the Parliament of
India. Membership of Rajya Sabha is limited
by the Constitution to a maximum of 250
members, and current laws have provision for
245 members. Most of the members of the
House are indirectly elected by state and
territorial legislatures using single transferable
votes, while the President can appoint 12

members for their contributions to art,
literature, science, and social services.

Members sit for staggered six-year terms, with
one third of the members retiring every two
years.

. Who appoints Ad hoc Committee on

Parliament—

Twe # aed wfafy fir gfaa sl Fware?

(a) Speaker of Lok Sabha/ Sll&hdsT & 37¢TeT

(b) Chairman of Rajya Sabha/ T=T T &
FeTeT

(c) Both a & b/ gt a 3R b

(d) None of the above/ 3ude#d # & ®Ig =IE

Ans.(c) Sol. Ad hoc Committees are
appointed for a specific purpose and they
cease to exist when they finish the task
assigned to them and submit a report.

. In the event of the President and the

Vice-President not being available, who
among the following will perform the
functions of the President?

Trsgufer 3R swrseafa #1 srquieufa @ fRufy #,
fAmfaf@a & & Fla useufa & Fat 1 grea Fam?
(a) Prime Minister/ 94reT #3Y

(b) Speaker of the Lok Sabha/ @& & 31¢38T
(c) Chief Justice of India/ $Rd & HEF =graTeier

(d) Senior most Governor of a State/ Teh I
& aRse AT

Ans.(c) Sol. The Indian Parliament has
enacted the law (The President (Discharge of
Functions) Act, 1969) for the discharge of the
functions of the President when vacancies
occur in the offices of the President and of the
Vice-President simultaneously, owing to
removal, death, resignation of the incumbent
or otherwise. In such an eventuality, the Chief
Justice, or in his absence, the senior most
Judge of the Supreme Court of India available
discharges the functions of the President until
a newly elected President enters upon his
office or a newly elected Vice-President begins
to act as President under Article 65 of the
Constitution, whichever is the earlier.For
example, in 1969, when President Zakir
Husain died in Office, Vice-President V. V. Giri
served as the acting President of India.
However, later, V.V Giri resigned from both
posts (Acting President of India and Vice-
President of India) as he became a candidate
in the 1969 Presidential election in India. In
this event, the then Chief Justice of India,
Justice Mohammad Hidayatullah served as the
acting President of India until the next
President was elected.




5. Which one of the following statements

regarding the Supreme Court of India is
not correct?

AR & GRA FIE & ey F Prafar@a & ¥ T @
HYA FET AL §?

(a) It acts as the guardian of the liberties of
the people of India/ I& IR & 9T dT
TIIFAT & TL&TF & & H H1 T &

(b) It acts as the guardian of the Constitution/
g HIAETeT & TI&THh & I H S AT ©

(c) It acts as the protector of the Directive
Principles of State Policy/ Ig T=a Aifd &

A& fAgial & TeTh & T F T FaT &

(d) It has final power to investigate disputes
regarding election of the President and

Vice-President of India/ 3Rd & Tseufa 3R
ISt & Tofta & Faer 7 faarel & e we
1 3T AfFT .
Ans.(c) Sol. The concept of Directive
Principles of State Policy was borrowed from
the Irish Constitution. While most of the
Fundamental Rights are negative obligations
on the state, DPSPs are positive obligations on
the state, though not enforceable in a court of
law.
. In the Indian Parliamentary System, ‘Vote
on Account’ is valid for how many months
(except the year of elections)?
AT FHET vorrel #, ‘ale W @rar fFas
7@l (T F 9§ F BIFW) F AT AT 872
(a) 2 months/ #gI (b) 3 months/ A&t

(c) 6 months/ #AgIeT (d) 9 months/ A&t

Ans.(a)Sol. The Vote on Account is the
special provision given to the government to
obtain the vote of Parliament to withdraw
money when the budget for the new financial
year is not released or the elections are
underway, and the caretaker government is in
place. A vote on account stays valid for two
months.

How many times a person can be elected
as the President of India?

TS TP I HRT & Tseufa & ¥ & fFaed )
faatfa fFar o wehar §2

(a) One time/T& IR (b) Two times/2 IR
(c) Three times/3 SR (d) No bar/@®sfT sigt

Ans.(d) There is no such limit specified in
Indian Constitution. So there is no bar on
number of times a person can be elected as
the President of India.

. Which of the following provision needs a

special majority in Parliament? Awafafaqa
# @ o grauTe F Tug H ey agaa
HERIFHAT Y ?

(a) Change in Fundamental Rights/ #ifers

10.

11.

12,

Rt 3 g
(b) Creation of New States/sTt T=at & fA#HTOT
(c) Abolition of Legislative Councils in State/
TS # faure aRYel &1 3eele
(d) Rules and Procedures in Parliament/
gae # fg# AR afskare
Ans.(a) A special majority is needed for
changing provisions of Fundamental Rights.
Which article can be used by the
President of India to declare national

emergency? TS IMITdHT "Iftd Fta & fov
HRT & Togafa ganT T d srqede #1 392 & s
TFHAT S ?

(a) Article 32/ 3iledg 32

(b) Article 352/ HT:I’L_&_C\' 352

(c) Article 360/ HT:I’L_&_C\' 360

(d) Article 365/ 31?:|’b_&_q' 365

Ans.(b) Article 352 of the Indian Constitution
talks about the national emergency. National
emergency is imposed whereby there is a
grave threat to the security of India or any of
its territory due to war, external aggression or
armed rebellion.

Which amendment of the Constitution of
India increased the age of retirement of
High Court judges from 60 to 62 years ?

T & YA & 5w weud F 3va =A™ &
warareet i darfagica Y 3y 60 & 62 a¥ T
Ter & f 32
(a)10™ (b) 12th
(c) 157 (d) 245th

Ans.(c) The 15th amendment of the
Constitution of India increased the age of
retirement of High Court judges from 60 to 62
years.

Constituent Assembly of India was

founded in the year ? o $r
AfeTer T Y T Agged 2
(a) 1940 (b) 1946

(c) 1947 (d) 1950

Ans.(b) The Constitution of India was drafted
by the Constituent Assembly, and it was
implemented under the Cabinet Mission Plan
on 16 May 1946.

means cases that can be
directly considered by the Supreme Court
without going to the lower courts before

that ? FATE ST AAAN A&
o= wafew =amamew garr e Fae sgreal & s
F R AT T AFATE ?

(a) Original Jurisdiction/ HeT FATATRIHR

(b) Writ Jurisdiction/ Re =amamsR

(c) Appellate Jurisdiction/ 34Tl =TSR

(d) Advisory Jurisdiction/ TeTghR «ITATTARR




13.

14.

15.

16.

Ans.(a) Original Jurisdiction means cases that
can be directly considered by the Supreme
Court without going to the lower courts before
that.

means that the President of
India can refer any matter that is of
public importance or that which involves
interpretation of Constitution to Supreme
Court for advice ?

&1 37 § B 9Ra &1 Iseafar et st e
Y AT Aged & Weol AT WIAYTA Y surear &
Tae F faT gt I A nffa T awar g ?
(a) Original Jurisdiction/ #el =TI
(b) Writ Jurisdiction/ Re samramasr
(c) Appellate Jurisdiction/ 379l TSR
(d) Advisory Jurisdiction/ HTgeR ~ATATTARR
Ans.(d)The Supreme Court has special
advisory jurisdiction in matters which may
specifically be referred to it by the President of
India under Article 143 of the Constitution.
“Trade unions” is listed in the

list given in the Seventh

Schedule of the Constitution of India ?
23 gfAgEl” B AR F WiAereT Fr wradt s &
s Tt & geag g ?
(a) Union/a=r (b) State/I=T
(c) Global/ dfRas (d) Concurrent/ §HFadr

Ans.(d) Trade wunions is listed in the
Concurrent list given in the Seventh Schedule
of the Indian Constitution.

In which year was All India Anna Dravida

Munnetra Kazhagam (AIADMK) founded ?

e ad F Hf@er sl 3o g HqAT Fome
(AIADMK) T TT9aT g% ot ?

(a) 1949 (b) 1999
(c) 1972 (d) 1997
Ans.(c)All India Anna Dravida Munnetra
Kazhagam (AIADMK) is an Indian political
party in the states of Tamil Nadu and

Puducherry. It is currently in power in Tamil
Nadu and is the third largest party in the Lok
Sabha. It is a Dravidian party and was founded
by M. G. Ramachandran (popularly known as
MGR) on 17 October 1972 as a breakaway
faction of the Dravida Munnetra Kazhagam
(DMK).

The Advisory Powers of the Supreme
Court of India imply that ? #Rd & A FIE

# gagHR AfFaaT T AT F ?
(a) it tenders advice to the Government of
India on all constitutional matters/ IJg T8

TS AHA T HRT THR P TATg ST §
(b) it tenders advice to the Prime Minister on
legal matters/ Jg TeITeT HAT T Hleleil ATHA

W g ST &
(c) it tenders advice to the President on

(10)

17.

18.

guestions of law or fact which is of public
importance/ Jg ®lelal IT AT & YA

ITseufa S Tolg ST & ST Ardsifae Agcd &

(d) it has power to tender advice to all the

above persons/ 39 3Wiad T3 safFaar Hr

TelTg ot ol ATFA &.
Ans.(c)Article 143 of the Constitution
provides that if at any time the President
thinks that a question of law or fact has arisen
or is likely to arise, which is of such a nature

and of such public importance that it is
expedient to obtain the opinion of the
Supreme Court upon it, he may refer the
question to the Supreme Court for
consideration and the Court, after such
hearing, as it thinks fit, reports to the

President its opinion thereon.

The provisions of the Constitution relating
to the establishment and abolition of the
Legislative Councils can be amended by ?

faremer aRwel i v ik seee & @afta

wfaene & wraenat 7 et e garr fhar s

THAT 8?

(a) simple majority of the Parliament/ &<
& ATYRUT SgAd

(b) two-thirdsamajority of the two Houses

of Parliament/ Tde & & T&at & af fags

TgAA

(c) two-thirds majority of the two Houses
of Parliament and majority of the

states/ 31feRier Tt 3T TS & & FeaAt

& al fagrs sgad
(d) none of the above/ 3WReFd & & FIg &Y

o)

Ans.(a)Sol.When a legislative council is
created or abolished, the Constitution of India
is also changed. However, still, such type of
law is not considered a Constitution
Amendment Bill. (Article 169). The resolution
to create and abolish a state legislative council
is to be assented by the President also.

The judges of the Supreme Court hold
office till they reach the age of ?

FRA FIE F AR a9 qF FE FA § o a6

C 37 T ¢ UET A § ?

(a) 58 years/58 a¥

(b) 60 years/60 a¥

(c) 65 years/65 a¥

(d) there is no upper age limit/ &I W 31
T 76T &

Ans.(c)The Supreme Court of India(Articles

124-147) comprises the Chief Justice and 30

other Judges appointed by the President of

India. Supreme Court Judges retire upon
attaining the age of 65 years.




19.

20.

21.

Rajya Sabha is not ?............. TITAT

(a) a permanent body/ T& TIRY AT

(b) subject to dissolution/ fagesT & 3¢

(c) an elected body / T& AaTfad A=

(d) essential body/ 3TaeTe AT
Ans.(b)Article 80 of the Constitution lays
down the maximum strength of Rajya Sabha
as 250, out of which 12 members are
nominated by the President and 238 are
representatives of the States and of the two
Union Territories. The present strength of
Rajya Sabha, however, is 245, out of which
233 are representatives of the States and
Union territories of Delhi and Puducherry and
12 are nominated by the President. The
members nominated by the President are
persons having special knowledge or practical
experience in respect of such matters as
literature, science, art and social service

The Right to Freedom of Religion granted
by the Indian Constitution implies that
the Indian citizens ?

At ST ganT RRw 1w et i Tad=ar w1

HUFR &1 arewd § 7 § & ey i 2

(a) are free to have faith in a religion other
than the state religion/ T €37 & 37elTar
forelT 317 g # faeard v & fov Tada §

(b) have to follow the religion of the state/
ST & 4 BT YTele] el §

(c) have the freedom to profess, practice
or propagate a religion of their choice/

AT THG o U T Hodiche!, IATH AT
JAR a1 T 3TSET &,

(d) not having faith in some religion shall
not be appointed to government

offices/ % tHl ¥ aedTE F¥et aTel ATHRT

HTRIRT T fAgereT oTET foham ST =rfew.
Ans.(c)Freedom of religion in India is a
fundamental right guaranteed by Article 25-28

of the Constitution of India.
The quorum for the Indian Parliament is ?

HRAT F9E & AT FRAE ?

(@) 40 members/40 &

(b) 50 members/50 Fe&x

(c) one-tenth of total membership/ &
HeTIdT &1 Ueh T fgear

(d) one-twelfth of total membership/ &
HEEAAT HI Ueh IRgal

(d) Bihar/ fogR

Ans.(c)Article 100 of the Constitution of India

stipulates that at least 10% of total number of
members of the House must be present to

(11)

22.

23.

24.

constitute the quorum to constitute a meeting
of either House of Parliament.
The oath of office to the President is

conducted by ? Irsgufa it FrATeT aay fFad

ganT fas St 8§ 2

(a) the Chief Justice of India/ #Rd & &I
graTedrer

(b) the Prime Minister/ wermeT #FAT

(c) the Vice-President of India/ %IRd &
IrSeufd

=<

(d) none of the above/ 3WFd & & Fis ot &7

Ans.(a)The oath of office to the president of
india(Article 60) is administered by honourable
chief justice of india . And in his absence
senior most judge of supreme court takes the
charge for administering oath to newly elected
president. Honourable Chief justice of India (
CJI) administers the oath of office to the
president of India.

The power of judicial review enjoyed by
the Supreme Court in India under ?

R H A FIE @R 71 watam v afFa
3H[o0E EENT ISl & ?

(a) Articles 226 / 3iJedc 226

(b) Articles 32/ 37fese 32

(c) Articles 227/ 3feese 227

(d) Articles 30 / 3ielede 30

Ans.(b) In regard to the Supreme Court
Articles 32 and 136 of the Constitution, the
judiciary in India has come to control by
judicial review every aspect of governmental
and public functions.

Which one of the following qualifications
for the office of the Vice-President of

India has been wrongly listed ? IRa &
IR & FRATET & AT Arafef@a & ¥ sia @t
A FqfRa S & gehag A a7$ 3?2
(@) he must be a citizen of India/ g AR T
AT gl AT
(b) he must have completed the age of
thirty-five years/ 3&ehr dcir a¥ &1 3mg
o geh e
(c) he must be a member of the Rajya
Sabha/ a8 T<T THT HT AL gl g0

(d) he must not hold any office of profit
under the Government of India or the
Government of any State or under any
local or other authority, subject to the

control of said governments/ 38 HRd
TR AT FRdT o To TR a1 e T
T 31T TIIRRT & dgd fohdl ofTs & 9g )
el gl AT,




25.

26.

27.

Ans.(c)Article 63 of Indian Constitution states
that “there shall be a Vice-President of India.”
The Vice-President acts as President in the
absence of the President due to death,
resignation, impeachment, or other
situations.The Vice-President of India is also
ex officio Chairperson of the Rajya Sabha.

The Speaker of the Legislative Assembly
can be removed from the office before his
normal term by ?

e & I i 379 TATT FRFE F TS
ey ¥ fFad q@rT s@Ted fFar sTaFar g ?
(a) the Chief Minister/ FEg#AT

(b) the Governor/ TsI9Tel

(c) the Legislative Assembly by passing a
resolution by a majority or its total
membership./ TaeIeT T I el FeTadr

SgAd gaRT IR fohd a1 geara &
(d) none of the above/ 3uad & ¥ H1$ AT

Ans.(c)Article 178 of the Indian Constitution
provides for a Speaker to preside over the
sessions of the Legislative Assembly of an
Indian State as Article 93 provides for a similar
Speaker in the Lok Sabha.

The Union Government can give
directions to the State Governments ?

g WHR T THR) ) AT & g & ?

(a) only with regard to subjects in the Union
List/ shaer Her T & TawAT & daer H

(b) only with regard to subjects in the
Concurrent List/ &aer Hadl = & st

& OET H
(c) even with regard to the subjects in the

State List/ I T # fawat & deer & off
(d) none of the above/ 3WRIad H & HIg 8T g

Ans.(c)The Constitution of India provides for a
division of powers between the Union (Centre)
and states. It divides all the subjects into 3
lists — Union List, State List and Concurrent
List The Union List describes the subjects
under the control Centre Government, the
State List describes the subjects under the
jurisdiction of states am the Concurrent List
describes the subjects which are under the
joint jurisdiction of the Centre of States. The
subjects which do not fall in these lists i.e.
residuary subjects have been given to the
Centre.

The Directive Principles were
incorporated in the Constitution with a

view to ? ¥y & s RAgar
$r e @ giFafaa Far = ar 2

(@) ensure a democratic government in the

country/ €21 # liehcliieh TIhR GlATReT
FA & oo

(b) provide a strong central government/

28.

29.

30.

Teh HSIG hg, TR o foIw
(c) establish welfare state/ HeATUTRRT T
TIOA 3 & faw

(d) raise the living standard of the weaker
sections of society/ TATST & AR Tt &
SasT T & delel & oI,

Ans.(c)Part IV of Indian Constitution deals

with Directive Principles of our State Policy

(DPSP).The concept of Directive Principles of

State Policy was borrowed from the Irish

Constitution. While most of the Fundamental

Rights are negative obligations on the state,

DPSPs are positive obligations on the state,

though not enforceable in a court of law.

Which article of the Indian Constitution

deals with Right to property?

AR WUt 1 FleT q1 IrqedT wufea & arfawr
¥ wafaa 82

(a) Article 100/ 3rfeae 100

(b) Article 200/ 3rTese 200

(c) Article 300A/ 37T=55& 300 T

(d) Article 330/ 3<% 330

Ans.(c)After the 44th constitutional
amendment, the right to property is became a
constitutional right instead of a fundamental
right under article 300 A.

Central Vigilance Commission was set up
on the recommendation of ?

FoaIT oaddr ITART i RAeiRer W e
&Y arft ot 2

(a) Administrative Reforms Commission of

India/ TR & FRIAAS R AT

(b) Gorwala Report/ arar RarE

(c) Kripalani Committee/ Faelelt &fAfT
(d) Santhanam Committee/ =1 FATT

Ans.(d)The Central Vigilance Commission was
set up by the Government in February,1964 on
the recommendations of the Committee on
Prevention of Corruption, headed by Shri K.
Santhanam, to advise and guide Central
Government agencies in the field of vigilance.
Which of the following is exclusively a
committee of the Lower House ?

et & @ Fiq 71 g e A v F@RAE?
(a) Committee on Assurances/ 31Rardd«
afafa

(b) Committee on Delegated Legislation/
wffafer s o afffa

(c) Committee on Public Undertakings/
arasfae 39shAr ) afAfa

(d) Estimates Committee/ YTerhelet @iATA

Ans.(d) Estimates Committee is a
Parliamentary Committee in India consisting of
30 members, elected every year by the lower




31.

32.

33

34.

35.

chamber of the Parliament - Lok Sabha - from
amongst its Members, to examine the budget
estimates of the Union Government.

The Speaker’s vote in the Lok Sabha is
called ? ANFTHT & reTeT F AT HY FIT FgT AT &
2

(a) Casting Vote/faviae #d
(b) Sound Vote/eafe A
(c) Direct Vote/9cgeT Ad
(d) Indirect Vote/3T9caaT Ad

Ans.(a)The Speaker does not vote in the
House except on those rare occasions when
there is a tie at the end of a decision. Till date,
the Speaker of the Lok Sabha has not been
called upon to exercise this unique casting
vote.

As per the Constitution of India, how
many members are represented by the
Union Territories in the Lok Sabha ?

AR F VAU & FTAR, AFaen & &g afda
vt g@RT frae ewat @1 gfafafes frar arar 82
(a) 18 (b) 20

(c) 22 (d) 24

Ans.(b)The maximum strength of the House
envisaged by the Constitution is now 552 (530
members to represent States, 20 to represent
Union Territories, and not more than two
members of the Anglo-Indian community to be
nominated by the President

.Union Budget is always presented first in
? T T9IC AU g & wEqga
ST R ?

(a) The Lok Sabha/dieasr

(b) The Rajya Sabha/IrsagaT

(c) Joint Session of the Parliament/ddg T
SRR

(d) The State Assemblies/ITs faemaTeT

Ans.(a)The Union Budget of India, also
referred to as the Annual Financial Statement
in the Article 112 of the Constitution of India,
is the annual budget of the Republic of India.

The Council of Ministers of Indian Union is

collectively responsible to the ? R @&
¥ ARy avfes w7 @ fred ufa saeee § 2
(a) President /Irseafa

(b) Prime Minister/9msT H3T

(c) Rajya Sabha/Trsg #r

(d) Lok Sabha/<le @em

Ans.(d)Pursuant to Article 75(3), the Council
of Ministers is responsible collectively to the
lower house of the Indian parliament, called
the Lok Sabha (House of People).

The allocation of seats in the present Lok
Sabha is based on which one of the

(13)

36.

37.

38.

following Census ?

TAATA NHTHT H el &7 rded @AFa & F vy
SAAIOTAT W) JTeNRT § ?

(a) 1971 (b) 1981

(c) 1991 (d) 2001

Ans.(a)Population is the basis of allocation of
seats of the Lok Sabha. As far as possible,
every State gets representation in the Lok
Sabha in proportion to its population.The 84th
Amendment Act has frozen the total number of
existing seats in the Lok Sabha on the basis of
1971 Census.

What is the minimum age laid down for a
candidate to seek election to the Lok

Sabha ?f¥H 37HIGaR & fAT SFwsm g9 a5a
N TATH T FATE ?

(a) 18 years/18 a¥

(b) 21 years/21 a¥

(c) 25 years/ 25 ay

(d) None of these/s# & HIg G

Ans.(c)Article 84 (Part V.—The Union) of
Indian Constitution sets qualifications for being
a member of Lok Sabha.The minimum age of
the candidate should not be less than 25 years
of age.

The state wise allocation of seats in Lok
Sabha is based on the 1971 Census. Upto
which year does this remain intact ?

AFFHT F Wel FT TsIaR 3rgeT 1971
FAIOTAT 9T TR 8. I8 FF 9§ dF I

TRI?

(a) 2011 (b) 2021

(c) 2026 (d) 2031

Ans.(c)The Constitution (Forty Second

Amendment) Act 1976 imposed a freeze on
the population figure for readjustment at the
1971 census and has been extended by the
Constitution (Eighty-fourth Amendment) Act
2001 till 2026.

The quorum of Lok Sabha is ?

ANHTHT HT FRA L ?

(a) 1/5th of the total membership/&ef
FeHIar &1 1/5

(b) 1/6th of the total membership/&er
HTIaT &1 1/6

(c) 1/8th of the total membership/&er
HeXgar &1 1/8

(d) 1/10th of the total membership/&d
fe&gdr &1 1/10

Ans.(d) Article 100 of the Constitution of
India stipulates that at least 10% of total
number of members of the House must be
present to constitute the quorum to constitute
a meeting of either House of Parliament.
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40.

41.

Who is competent to dissolve the Rajya
Sabha ? TSITWHT Y $T HIA H TETH HieT 2

(a) The Chairman, Rajya Sabha/iIsadar
3reger

(b) The President/Irsgafa

(c) The Joint-Session of Parliament/ Tdg T
SESRAE

(d) None/®1s =TgT

Ans.(d)The Rajya Sabha meets in continuous
sessions, and unlike the Lok Sabha, the lower
house of Parliament, is not subject to
dissolution.

Rajya Sabha enjoys more power than the

Lok Sabha in the case of ? f&& AT &
TSITHT F NHTAT W 3F AfFT *7 3¢ e
darg ?
(a) Money bills/&=T fa8gs
(b) None-money bills/ 3R-a1 fages
(c) Setting up of new All India Services/ 7S
31T HRAT Far3it hr TUTI=AT
(d) Amendment of the Constitution/ @faemeT
H Tt
Ans.(c)The constitution under Article 312
provides for All India Civil Services branches to
be set up by giving the power to the Rajya
Sabha (upper house of the Parliament of
India) to resolve by a two-thirds majority to
establish new all-India services.

he salary of the Chief Justice and other
judges of the Supreme Court :

qET wreier 3R gHA FIE F 3o saraehiat F
ada:
(@) cannot be reduced under any

circumstances/ TRaY ff aRTEATT 7 FaT TG
R ST ThaT §

(b) can be reduced by Parliament by a two-
thirds majority/ &&e & & faeT$ Sg#d garT
HA TohdT ST TehT .

(c) can be reduced during the national
emergency/ IS ATATARIeT & GIRTeT S fohaT
ST Tehell §

(d) can be reduced during the financial
emergency/ facdia 3TdTaeTe & GRTeT S
R ST THhaT §

Ans.(d)Sol. Article 125 of the Indian
constitution leaves it to the Indian parliament
to determine the salary, other allowances,
leave of absence, pension, etc. of the supreme
court judges. However, the parliament cannot
alter any of these privileges and rights to the
judge’s disadvantage after his/her
appointment.The Financial Emergency
provided under Article 360. It provides that if

(14)

42,

43.

the President is satisfied that the financial
stability or credit of India or any of its part is
threatened; he may declare a state of
Financial Emergency. The President may ask
the States to reduce the salaries and
allowances of all or any class of persons in
government service.

The Central Government can legislate on

a subject in the State List : g &R T

et # el R o1 e T et &

(a) if the Parliament passes a resolution / If¢
I Teh YT TR adl &

(b) if the President issues an ordinance to this

/ IfE Tsgafad Tg et & foIT Uah 3reameer Sy
AT

(c) the Supreme Court grants necessary
authority to the Parliament/ Taf=ar ==

THE Y 3TITh SR ST &

(d) the Rajya Sabha passes a resolution by
two-thirds majority declaring that
particular subject in the State list to be of
national importance/ T T & 39 [AA¥

T & TET Aged O d o & faT ar-fages
agﬂﬁﬁwmlaqrﬁaﬁm

Ans.(d)Sol. Though under ordinary
circumstances the Central Government does
not possess power to legislate on subjects
enumerated in the State List, but under
certain special conditions the Union Parliament
can make laws even on these subjects.a) In
the National Interest (Art.249),b) Under
Proclamation of National
Emergency(Art.250),c) By Agreement between
States (Art. 252),d) To Implement Treaties
(Art. 253),e) Under Proclamation of President’s
Rule (Art.356)

Which one of the following has been
wrongly listed as a Directive principle?
frafaf@a 7 @ Fia a1 e Rea & & & sl
&1 @ Wetag e o 82

(a) provision of adequate means of livelihood

for all the citizens/ T ARTRER & foT
TSR & TATCT TTEAT T ATTLTT

(b) provision of employment facilities to all
able-bodied persons/ @il T&T# ATFAAT T
ST GIALT3AT T rererre

(c) protection of workers, especially children/
TRy ®a & s, At S geam

(d) securing of equal pay for equal work to
both men and women/ g&sit 3iR afgen3it g
& FHTA HIH & folT s&R dcdeT

Ans.(b)Sol. Part 1V, Articles 36-51 of the
Indian constitution constitutes the Directive
Principles of State Policy which contain the
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broad directives or guidelines to be followed by
the State while establishing policies and laws.
The legislative and executive powers of the
state are to be exercised under the purview of
the Directive Principles of the Indian
Constitution.

Which one of the following legislative
powers of the State Council of Ministers
has been wrongly listed?

AT A 5T aRve Fr FAeafafaa Rurh afFaat

& & o7 A IR & @ welag frar 82

(@) it summons and prorogues the session of
either or both the Houses of the State

Legislature/ I8 T AYUTAASH & =l AT St
Heail & T I oIl § 3N TS Far g

(b) it determines the business and time-table
of the State Legislature/ Ig I=T AuTa#Hs

& MR AR T aRel Fuiia «dr §.

(c) most of the important bills are introduced
in the State Legislature by the Council of

Ministers/31feishier Agcaqul o T faumasse
# ARFT A aRkwg garr ger fre sma &
(d) none of the above/ 3WRIed & A HIg Y F&T

Ans.(a) Sol. The governor summons the
sessions of both houses of the state
legislature and prorogues them. The
governor can even dissolve the Vidhan
Sabha. These powers are formal and the
governor while using these powers must
act according to the advice of the Council
of Ministers headed by the Chief Minister.

45.The subjects on which both the Centre

and State Governments can legislate are
contained in

forer forwait oX & 3R o TR QYAl FhfeT ol
TPaE F anfAa &,

(a) the Union List / §e ¥&r

(b) the State List/ s =

(c) Concurrent List / Gaad g2

(d) Residuary List/ 31aflrse &=

Ans.(c) Sol. The Concurrent List or List-
ITI(Seventh Schedule) is a list of 52 items
(though the last item is numbered 47) given in
the Seventh Schedule to the Constitution of
India.It includes the power to be considered by
both the central and state government.
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ATITIST | GEOGRAPHY
50 MCQ'S 3t #gcagd Gea | Most Important Questions

1.

The laraest herbarium of India is located at -
R T TIY 5T gAETd GABTAT Fal [2Id &7

(a) Kolkata/ @ereral  (b) Lucknow/ oi@si3

(c) Mumbai/ #s$ (d) Coimbatore/ HIgeel
Ans.(a) Sol. The largest herbarium in India is
Indian Botanical Garden, Kolkata. It consists of
1000000 number of specimens.

The transfer of minerals from top soil to subsoil
through soil-water is called?

TAET & urel & \egs @ MY A @ a9y o @it
T TATATAROT ST JATT 872

(@) Percolation/ 3fed¥yy EdoT

(b) Conduction/ 9digehcea

(c) Leaching/ &fff=iar

(d) Transpiration/ ¥dg

Ans.(c) Sol. The transfer of minerals from top
soil to subsoil through soil-water is called
leaching.

Molten rock below the surface of the earth is
called

g2t Y Telg & = e gU ger H

gl ST 6.

(a) Basalt/ 3f&area

(b) Laccolith/emeepiferer

(c) Lava/emar

(d) Magma/&H3#T

Ans.(d) Sol. Molten rock below the surface of the
earth is called Magma.

Sariska and Ranthambore are the reserves for
which of the following ?

aftear 3R o Peafaf@a & & g Rerd 82
(a) Lion/ 2R (b) Deer/f&or

(c) Tiger/sm=a (d) Bear/#Te
Ans.(c) Sol. Sariska National Park and
Ranthambore National Park are situated in

Rajasthan. Both of them are tiger reserves
The longest sea beach in India is -

HIRTT T HY el HHGT T &~

(a) Chapora beach/ aTdRT #Hg de
(b) Diu beach/ &9 T#g dc

(c) Aksa beach/ 31T HHg T

(d) Marina beach/ &= &=

Ans.(d) Sol. Marina Beach in Chennai is the
longest natural beach in India
Where is Saddle Peak in Andaman and Nicobar

Island situated? 3{SHT 31X HeIaR gdiq # dsel dieh

10.

gl T g2

(a) Great Nicobar / 3€ AFER
(b) Middle Andaman/ ##ET 3i8HTT
(c) Little Andaman / fafee 3rsaT

(d) Northern Andaman/ 3cail 3isHTT

Ans.(d) Sol. Saddle Peak or Saddle Hill is located
on North Andaman Island in India’s Andaman
and Nicobar Islands.

. What is the name of the disputed coastal area

located far from Gujarat coast in between India
and Pakistan? #Rd 3R dfehecial & dier R de &
¥ faanfea aéra v & A R g2

(a) Gulf of Cambay / s T @rar

(b) Sir Creek/ &X I

(c) Gulf of Khambhat / @#HTT I @rar

(d) Mouth of Indus/ T&Y 1 #g

Ans.(b) Sol. Sir Creek is a 96 km tidal estuary
on the border of India and Pakistan. The creek,
which opens up into the Arabian Sea, divides the
Gujarat state of India from the Sindh province of
Pakistan.

India’s neighbor country with minimum area is-

SATH &7 aTelT HRcT sl TSIET & &-
(a) Bhutan/sferst (b) Nepal/=grer
(c) Sri lanka/ # si&1(d) Bangladesh/saameer

Ans.(a) Sol. Bhutan is a small country in the
Himalayas between the Tibet Autonomous
Region of China and India.

The largest herbarium of India is located at -

R &1 HIH 3T JoAE T HIGTT Fgl U 8?2
(a) Kolkata/ @rererdr (b) Lucknow/ a3
(c) Mumbai/ #Hs$ (d) Coimbatore/ &IFEeX

Ans.(a) Sol. The largest herbarium in India is
Indian Botanical Garden, Kolkata. It consists of
1000000 number of specimens.

The transfer of minerals from top soil to subsoil

through soil-water is called? fHET & UT=T & ATETH
& oMY AT & 3raepf& T @iotsil T TATATROT gl
SATdT 872

(@) Percolation/ 3fedy TIT0T

(b) Conduction/ Jdargehcca

(c) Leaching/ &ff=rar

(d) Transpiration/ ¢

Ans.(c) Sol. The transfer of minerals from top

soil to subsoil through soil-water is called
leaching.
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12.
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14.

15.

16.
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Molten rock below the surface of the earth is

called . 92T BT FE & A el gU FErr
& el Tl g

(a) Basalt/ 31faames (b) Laccolith/cTerniTerer
(c) Lava/arar (d) Magma/&7aT

Ans.(d) Sol. Molten rock below the surface of the
earth is called Magma.
Sariska and Ranthambore are the reserves for

which of the following ? @R&er 31T ToT2siic

fFAtaiad & & fraer Rerd g2
(a) Lion/ 2R (b) Deer/fgor
(c) Tiger/dar=a (d) Bear/#re]

Ans.(c) Sol. Sariska National Park and
Ranthambore National Park are situated in
Rajasthan. Both of them are tiger reserves

The longest sea beach in India is - #IRd F Ta&
ST HHLY T &

(a) Chapora beach/ =ITaRT &g dc

(b) Diu beach/ & @#g dc

(c) Aksa beach/ 3reraT ¥Hg dc

(d) Marina beach/ #l=T &

Ans.(d) Sol. Marina Beach in Chennai is the
longest natural beach in India

Rainfall caused by intense evaporation in
equatorial areas is called

mw@a%ﬁﬁ@aa@wé?wgﬁaﬁraw‘r
Hr gl STl &

(a) Orographic rainfall / sftanfore st

(b) Cyclonic rainfall/ Tshard auT

(c) Frontal rainfall/ Seer auT

(d)Convectional rainfall/ argfeie asT

Ans.(d) Sol. Rainfall caused by intense
evaporation in equatorial areas is called
Conventional rainfall

The Andaman is separated from Nicobar by

which water body? 3i5HT ARER & FT T
To¥ehTr @R 37efeT fahaT a1 872

(a) 11° channel / 11° ¥t

(b) 10° Channel / 10° deer

(c) Palk Strait / 9Te STlsHATHEYT

(d) Gulf of Mannar / HAe=IX T @TaT

Ans.(b) Sol. The Ten Degree Channel is a
channel that separates the Andaman and
Nicobar in the Bay of Bengal.

The Ghatampur thermal power plant recently

approved by Cabinet is to be setup in ? T &7 &
hiSeIe gaRT Al HeAYR Yool IaR Tolic
H T fRar ST § -
(a) Rajasthan/ IrsTEdTeT
(b) Uttar Pradesh/ 3caR 92l

17.

18.

19.

20.

(c) Karnataka/ seTcs

(d) Madhya Pradesh/ #i£T wer

Ans.(b) Sol. Ghatampur Thermal Power Station
is an upcoming coal-based thermal power plant
located in Ghatampur in Kanpur district, Uttar
Pradesh.

The layer where the decrease in temperature
with increasing altitude is totally absent is -

I I ST TGt FaTS & WY AT H Falt T G
q U 8-

(a) Troposphere/ &frsT #FsoT

(b) Ionosphere/ 3ATHS S

(c) Stratosphere/ TeeIfEmR

(d) Mesosphere/ HFEEHRT

Ans.(c) Sol. The layer where the decrease in
temperature with increasing altitude is totally
absent is Stratosphere. Temperature rise as one
move upward through the stratosphere.

What is Dakshin Gangotri? &feyoft arm &1 87

(a) River valley in Andhra Pradesh/ 31er weer
CrAR3I[a]
(b) Unmanned station located in Antarctica/

3ieThieest # fEud AT IRd Teu=T
(c) Second source of River Ganga/ 3131 #A&T T

IR T
(d) Island in the Indian Ocean/ f§¢ AR &
cdIa
Ans.(b) Sol. Dakshin Gangotri was the first
scientific base station of India situated in
Antarctica, part of the Indian Antarctic Program.
It is an unmanned station. Dakshin Gangotri was
built in 1983 but was buried in ice and
abandoned around 1991.
The ‘Narmada Water Dispute Tribunal’ was
constituted to resolve the water sharing between

AATe@d 7 & hdsh HALT UTell & HTSTOT Hl §of
et o Tore ‘ofeler Sfer faare fesgeter &1 aree fonar arar
qr?
(a) Gujarat and Rajasthan/[eRId 3R ITsTEdT=
(b) Gujarat and Maharashtra/ J[eRTd 3R HERISE
(c) Gujarat, Maharashtra, Rajasthan and
Madhya Pradesh/ J[sRTd, #ERISE, TSTEATA
3R FET yewr
(d) Gujarat and Daman and Diu/ I[eRTd 3R &#eT

AR &a

Ans.(c) Sol. The ‘Narmada Water Dispute
Tribunal’ was constituted to resolve the water
sharing between Gujarat, Maharashtra,
Rajasthan and Madhya Pradesh in 6th October
1969.

The beach sands of Kerala are rich in — &%el &

g e I s a7g 82




21.

22.

23.

24,

(a) Calcium/ &ferr@#(b) Radium/ I3
(c) Thorium/ 2MRT#A(d) Manganese/ HIT

Ans.(c) Sol. The beach sands of Kerala are rich
in Thorium.
The largest irrigation canal in India is ?

HRA & g8 937 a8 7g] 8.
(a) Yamuna canal/ I o8
(b) Indira Gandhi canal/ 33T 3l A1gx

(c) Sirhind canal/ TXfeg &<
(d)Upper Bari Doab canal/ 393 IR 3i5 A&<

Ans.(b) Sol. The Indira Gandhi Canal is the
longest canal in India and one of the largest
irrigation project in the world. Indira Gandhi
Canal is 649 km long and consists of Rajasthan
feeder canal and Rajasthan main canal and runs
through 167 km in Punjab and Haryana and
remaining 492 km in Rajasthan.

Which of the following is the most important raw
material for generation of power in India?

R # fosTell 3cured & fow Aeafaf@a 7 & wia @t
Y AgcaquT edl HIHA §7?

(a) Mineral Oil/ @fas dar

(b) Natural Gas/dTefceh g

(c) Uranium/ s

(d) Coal / FITer

Ans.(d) Sol. Coal is the most important raw
material for generation of power in India.

What is Latent Heat ? q[cd SsaAT AT & ?

(@) Energy in a form of heat needed to convert
the water into gaseous form/ 9r=it & =T

T H el & [T FAT & &7 H 3719TH Fail

(b) Energy in a form of heat needed to convert
the gaseous into water form/ ¥ &1 ar=lt &

T H dColel & ToIT FSAT & & F 7 HGTR Foil
(c) Amount of heat present in the

environment/ 9ATaRor & HiGg FeAT S AT

(d) None of the above/ 3WRied H & &I &Y 7TET

Ans.(a) Sol.Latent heat is the heat energy per
mass unit required for a phase change to occur.
Normally when heat energy is added to or
removed from an object, the temperature of the
object changes; however, during phase changes,
the temperature of an object stays constant. The
temperature remains the same because energy
is required for an object to change phases.So
when you add heat to a liquid, you are actually
causing the molecules to vibrate. The latent heat
is the energy required to change the molecular
movement. Each substance has a unique latent
heat value.

What is dew point? 301&is FaT g ?

(@) The temperature at which an air becomes
unsaturated/ @& ATYAT TS W T gaT 3rEqed &1

STl &

(18)

25.

26.

27.

28.

(b) The temperature at which an air becomes
cold from warm/ 9g dTadTe fog oX gar a7 § &7 ar

ST &
(c) The temperature at which an air becomes
saturated/ ag dT9HAT T 9 Ueh §aT HeJod 81 il ©

(d) None of the above/ 3WRFd & & Fis ot 7T&T

Ans.(c) Sol.The dew point is the temperature to
which air must be cooled to become saturated
with water vapor. When further cooled, the
airborne water vapor will condense to form liquid
water.

Radiation inversion occurs only on ?

RfoT Ao Fae WA 2

(a) Air surface/ arg &g

(b) Ocean surface/ FETENR ST AdE

(c) Land surface/ #def

(d) none of the above/ 3WRIeFd & & HIs & A&

Ans.(c) Sol.A radiation inversion commonly
occurs when the evening air is still and there are
no clouds to trap heat. Surface temperature
drops as longwave radiation emitted by the
Earth escapes to space. Since a land surface
radiates more heat than the air, ground is cooled
more rapidly than the air at great heights during
night time. Consequently the coldest air lies at
the ground and is overlaid by warmer air.

The comparative ratio between humidity of
certain area with the maximum limit is called ?

FS 81T I AT o HThcdH AT & TTY & JeAellcHD
3FITCT Y ST el ST & ?

(a) relative strength/ ardeT &7dT

(b) relative humidity/ amaféie 3mear

(c) ultra humidity/ 31fa 3m&ar

(d) mild humidity/ gehr 3T

Ans.(b) Sol.Relative humidity is the ratio of the
current absolute humidity to the highest possible
absolute humidity (which depends on the current
air temperature). A reading of 100 percent
relative humidity means that the air is totally

saturated with water vapor and cannot hold any
more, creating the possibility of rain.

Which these are example of Igneous rock ? &
d FIT JFAT TETT & 36TeX0T & ?

1.Granites/ J-8¢ 2.Basalt/ d@Tee

3.Marble/ HIFERF 4.Sandstones/ TeJ31T TR

(a) 1 and 2 only/aaer 1 3R 2

(b) 2 and 3 only/Faa 2 31k 3

(c) 1 and 3 only/&aa 1 31k 3

(d) All of the above/3mRIFd Teft

Ans.(a) Sol.Igneous rocks form from the cooling
of magma - molten materials in the earth’s
crust.

Marbles are formed due to change in

gRadsT & HRUT AT T AT giar § ?

?H




29.

30.

31.

32.

(a) Clay/ f&gr (b) Limestones/ TeT 9e2R

(c) Sandstones/ sef31T 9caR(d) Granite/ D GIET
Ans.(b) Sol.Marble is a metamorphic rock that
forms when limestone is subjected to the heat
and pressure of metamorphism. It is composed
primarily of the mineral calcite (CaCO3) and
usually contains other minerals, such as clay
minerals, micas, quartz, pyrite, iron oxides, and
graphite.

Which rocks are called primary rocks ? &isT &t
TETAT T TTATHF TS FgT AT & ?

(a) Sedimentary rocks/ 3@aE TETel

(b) Metamorphic rocks/ FIiaRd TgTet

(c) Igneous rocks/ 3PTaT T

(d) None of the above/39Fd § & FIg oTer

Ans.(c) Sol.Igneous rocks are formed from
magma, the molten material from the center of
the Earth. Igneous rocks begin the rock cycle,
and are therefore called primary rocks.

Loess is a ? ity Ush g2
(a) Loss of rocks/ @t &hr &fa
(b) Animal deposited sediments/ WQQT%%G{
a4l
(c) Water deposited sediments/ gr=ir faféca
K CESIGY
(d) Wind deposited sediments/ gar fafarea

K CESIGY

Ans.(d) Sol.Loess is a clastic, predominantly silt-
sized sediment that is formed by the
accumulation of wind-blown dust.

Sedimentary rocks are derived through ? 37d@Tér
Tl foheh ATETH & GcoT Bl & ?

(a) Disintegration/ fageaT

(b) Decomposition/ 319gcsT

(c) Both A and B/ A 3R B gt

(d) none of the above/3WRied & ¥ I 7T

Ans.(c) Sol.Sedimentary rocks are formed when
sediment is deposited out of air, ice, wind,
gravity, or water flows carrying the particles in
suspension. This sediment is often formed when
weathering and erosion break down a rock into
loose material in a source area.

Dynamic metamorphism occur dueto__ ?

aifaelier FuTaRferaes HROT glar g ?

(@) Wind/ gar

(b) Water/ 9reit

(c) Heat/ FsAT

(d) high Pressure and high temperature/ 3=
&aTd 3 3= dAT

Ans.(d) Sol.Metamorphism is the change of
minerals or geologic texture in pre-existing
rocks, without the protolith melting into liquid
magma. The change occurs primarily due to

33.

34.

35.

36.

37.

heat, pressure, and the introduction of
chemically active fluids.There are several
different types of metamorphism, including
dynamic, contact, regional, and retrogressive
metamorphism, that form and shape
rocks.Dynamic metamorphism involves high
shear stress, high pressure, high strain, high
fluid partial pressure and variable temperature.
The processes which include geological
phenomena and processes that originate
externally to the Earth’s surface are called

as ? gg gfshart s sitanfas gea 3k
fshaTy QMfAeT § ST g2al & Tcdg W e §9 & 3cToet
(a) Endogenic processes/ 3dsifeid Ufshard

(b) Exogenic processes / dfgoifaia Tfshare

(c) Biological process / Sifae ufshar

(d) None of these/ 318 & HIS g}

Ans.(b) Sol.The processes which occur on
earth’s surface due to the influence of exogenic
forces are called as exogenic processes or
exogenic geomorphic processes. Weathering,
mass wasting, erosion, and deposition are the
main exogenic processes

Which city is known as the ‘Manchester of South

India’? f5a g &1 ‘0T IRT & HToel & &
ST STTT 872

(a) Chennai / =18 (b) Coimbatore/ HIFaeY
(c) Bangalore / daTeik  (d) Madurai / #gY
Ans.(b) Sol.It houses more than 25,000 small,
medium and large industries with the primary
industries being engineering and textiles.
Coimbatore is called the “Manchester of South
India” due to its extensive textile industry, fed
by the surrounding cotton fields.

Which State in India is called the ‘Land of Five
Rivers'? HRd # fhE T[T &I "aie ATt &1 $1fA" Far
ST &7

(a) Uttar Pradesh/ 3caR 9¢2r  (b) Punjab/ 9stre

(c) Haryana / gRarom (d) Bihar/ fsgrR
Ans.(b) Sol.It is named so because of the five
rivers flowing through this land and these five
rivers of Punjab are Sutlej, Beas, Ravi, Chenab
and Jhelum.

On which river is the Bhakra Nangal Dam of
India built ? HRT ST HGST AT &TET fohaT A4 X
AT ITAT &2

(a) Yamuna / 3#=1(b) Ganga / 3T

(c) Sutlej/ ddefst  (d) Brahmaputra/seaq
Ans.(c) Sol.Bhakra Dam is a concrete gravity
dam on the Sutlej River in Bilaspur, Himachal
Pradesh in northern India. The dam forms the

Gobind Sagar reservoir.
Which city in India is called the ‘Lake City’?

AR H 8 28T &1 Siell &1 g’ el 1T 872




38.

39.

40.

(20)

(a) Udaipur/ 3ea9X (b) Jaipur/ SR 41.
(c) Raipur / TR (d) Jodhpur/ Sirergy
Ans.(a) Sol.Udaipur City, formally known as the
city of lakes and Venice of East. Udaipur, the
capital of the former princely state of Mewar is a
beautiful city in Rajasthan, India. Udaipur is also
referred to as the “Venice of the East”, the "Most
Romantic City of India” and the “Kashmir of
Rajasthan”.

Which one among the following is not an
important factor of climate of an area?

AT 7 & aleT AT 819 & STelary &l Teh Hgeaqor
FRE TG 67

(a) Longitude/ g2k

(b) Latitude/ 37&er

(c) Altitude/ =TS
(d) Distance from the sea/ &g & glf

Ans.(a) Sol.longitude is distance east or west of
the prime meridian (an imaginary line running
from north to south through Greenwich,
England). Longitude is measured in degrees east
or west of the prime meridian. This means one
half of the world is measured in degrees of east
longitude up to 180°, and the other half in
degrees of west longitude up to 180°.

‘EI Nino’ associated with the formation of the

South West Monsoon of India is?'3Tol-a=’ 9Rd &

G feroT af¥es AT % IS § 3T g3 g
(a) a periodic low pressure centre/ T 3Taftie
A GaTd g
(b) an abnormally warm ocean current/
ITAT ¥ F I AGRTERIT 9RT

(c) a periodic warm air-mass/ Teh 3Tafee T

&aT gegHTT
(d) a periodic warm wind/ Te 3Tafe a1 gar
Ans.(b) Sol.Collectively, El Nifio and La Nifa are
parts of an oscillation in the ocean-atmosphere
system called the El Nino-Southern Oscillation.El
Nifio Southern Oscillation refers to the cycle of
warm and cold temperatures, as measured by
sea surface temperature, SST, of the tropical
central and eastern Pacific Ocean.
Which one among the following rivers does not
flow into the bay of Bengal?
Arafaf@a Afeal F§ @ sia @Y ) S9mer $r @St F Fg7
Ao 82
(a) Tapti/ arcdr (b) Mahanadi/ #HgTeTar
(c) Godavari/ TMeradr (d) Cauvery/ Fray

Ans.(a) Sol.The Narmada and the Tapti are the
only major rivers that flow into the Arabian Sea.
The total length of Narmada through the states
of Madhya Pradesh, Maharashtra, and Gujarat
amounts to 1312 km. The Tapti follows a parallel
course to the south of the Narmada, flowing
through the states of Maharashtra and Gujarat
on its way into the Gulf of Khambhat.

42.

43.

44,

In the interior of the Earth

gy & TR 39T H-

(a) the temperature rises with increasing depth/
ATIATST St IS & TTYT TodT &

(b) the temperature falls with increasing depth/

ATIHTA F&clt IERTS & a1y AT g
(c) the pressure falls with increasing depth/ &Y
IETS & 1Y eard FRar &

(d) both temperature and pressure fall with
increasing depth/ S&dT &S & TTY dATIHTT AR
CEICRAGINEIC GRS

Ans.(a)Sol.Structure of earth’s interior s
fundamentally divided into three layers - crust,
mantle and core.A rise in temperature with
increase in depth is observed in mines and deep
wells.These evidence along with molten lava
erupted from the earth’s interior supports that
the temperature increases towards the centre of
the earth.Just like the temperature, the pressure
is also increasing from the surface towards the
centre of the earth.

Jet streams are usually found in the ?

ST TEHA MACR O 910 ST § ?
(a) Exosphere/ sfg¥#ser

(b) Mesosphere/ #YT #Ze

(c) Tropopause/ &tTHST

(d) Ionosphere/ 3THS S

Ans.(c) Sol.The boundary between the turbulent
troposphere and the calm, cold stratosphere is
called the tropopause. Jet streams travel in the
tropopause.Jet streams are some of the
strongest winds in the atmosphere. Their speeds
usually range from 129 to 225 kilometers per
hour (80 to 140 miles per hour), but they can
reach more than 443 kilometers per hour (275
miles per hour). They are faster in winter when
the temperature differences between tropical,
temperate, and polar air currents are greater.
Which of the following hills are found where the
Eastern Ghats and the Western Ghats meet? SigT
W ydf are 3R afXeet g e § a8 | HefafEa
TgIfsat & & i TY IgIar 918 St 82

(a) Anaimalai Hills/ 3=Ts#Tens ggIfsar

(b) Cardamon Hills/ Frsate ggifsar

(c) Nilgiri Hills/ sfrarfardy wgrfear

(d) Shevoroy Hills/ ¥arra ggIfzar

Ans.(c) Sol. The Nilgiri often referred to as the
Nilgiri Hills, are a range of mountains with at
least 24 peaks above 2,000 meters, in the
westernmost part of Tamil Nadu at the junction
of Karnataka and Kerala in Southern India.
Which one of the following type of resource is

iron ore ? dlig 3T AT AT 7 & FH YFR &7
AT § ?




45.

46.

47.

(a) Renewable/ #doiT (b) Biotic/ Sifa®

(c) Flow/ yatg (d) Non-renewable/ 3R sdaoig
Ans.(d) Sol.A nonrenewable resource is a
resource of economic value that cannot be
readily replaced by natural means on a level
equal to its consumption. Most fossil fuels, such
as oil, natural gas and coal are considered
nonrenewable resources in that their use is not
sustainable because their formation takes
billions of years.

Which one of the following is the main cause of

land degradation in Punjab? faafafaa & & &la
T TSI 3 {fH ITAhHACT T T HROT ?

(a) Intensive cultivation/ ?I%Trrajﬁr

(b) Deforestation/ @&t &I Fers

(c) Over irrigation/ 31t {ars

(d) Overgrazing/ 3cafae WS

Ans.(c) Sol.The major cause of land degradation
in punjab is “flooding or Over irrigation”.Over
exploitation of soil and water resources has led
to the problem of soil degradation and declining
water table in the large areas of Punjab.About
39% of the state’s soil is completely degraded
while 50% of the soil is acutely low in nitrogen
and 25% low in phosphorous content.

Rainfall caused by intense evaporation in
equatorial areas is called

mw@a%ﬁﬁ@aa@wé?wgﬁaﬁraw‘r
Eal el STl &

(a) Orographic rainfall / sftanfore aut

(b) Cyclonic rainfall/ Tshard auT

(c) Frontal rainfall/ Seer auT

(d)Convectional rainfall/ argfeie auT

Ans.(d)

Sol. Rainfall caused by intense evaporation in
equatorial areas is called Conventional rainfall
The Andaman is separated from Nicobar by
which water body?

3EATT [FRER A o8 STelld e gaRT 37ereT fohar
AT 8?

(a) 11° channel / 11° ¥t

(b) 10° Channel / 10° deer

(c) Palk Strait / 9T& STlsHATHEY

(d) Gulf of Mannar / HAe=IX T @TaT

48.

49,

Ans.(b) Sol. The Ten Degree Channel is a
channel that separates the Andaman and
Nicobar in the Bay of Bengal.

The Ghatampur thermal power plant recently
approved by Cabinet is to be setup in -

BTeT 81 3 hideic ZaRT AT TCHR U UIa Teie
H Taifa forar ST § -

(@) Rajasthan/ U1

(b) Uttar Pradesh/ 3caR wear

(c) Karnataka/ &aiTes

(d) Madhya Pradesh/ &€ wcer

Ans.(b) Sol. Ghatampur Thermal Power Station
is an upcoming coal-based thermal power plant
located in Ghatampur in Kanpur district, Uttar
Pradesh.

The layer where the decrease in temperature
with increasing altitude is totally absent is -

a8 TR ST SGcll TS & AL ATTHATT 7 FHAT T e
q eI 8-

(a) Troposphere/ &3 Hge

(b) Ionosphere/ 3TTHS

(c) Stratosphere/ TfEwmIR

(d) Mesosphere/ HEFHRT

Ans.(c) Sol. The layer where the decrease in
temperature with increasing altitude is totally
absent is Stratosphere. Temperature rise as one
move upward through the stratosphere.

50. What is Dakshin Gangotri?

g faroft s 872

(a) River valley in Andhra Pradesh/ 31rer weer &
STar =Y

(b) Unmanned station located in Antarctica/
3icThfes & fud Aeg IRT v

(c) Second source of River Ganga/ 33T T &T

T A
(d) Island in the Indian Ocean/ fég #ABETR &
cdia
Ans.(b) Sol. Dakshin Gangotri was the first
scientific base station of India situated in
Antarctica, part of the Indian Antarctic Program.
It is an unmanned station. Dakshin Gangotri was
built in 1983 but was buried in ice and
abandoned around 1991.
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UR& | Most Important Questions

1. The staple food of the Vedic Aryan was -
A AT T YT ST F4T AT-

(a) Barley and Rice/ St 3R araer

(b) Milk and its products/ g¥r 3R 3H& 3cUTg
(c) Rice and Pulses/ aTaer 3T &rel

(d) Vegetables and fruits/ @fesar 3 wer

Ans.(b) Sol.A staple food, or simply a staple,
is a food that is eaten routinely and in such
quantities that it constitutes a dominant
portion of a standard diet for a given people,
supplying a large fraction of energy needs
and generally forming a significant proportion
of the intake of other nutrients as well.Milk
and its products were used by the Vedic
Aryan as a staple food.”Aryan” is a term that
was used as a self-designation by Indo-
Iranian people.The word was used by the
Indic people of the Vedic period in India as
an ethnic label for themselves and to refer to
the noble class as well as the geographic
region known as Aryavarta, where Indo-
Aryan culture was based.

2. Which one of the following four Vedas
contains an account of magical charms and
spells?

AT ar et # ¥ Rt Sgs smardor 3t
A7 &7 [TaR g7

(a) Rigaveda/ #3d¢ (b) Samaveda/ HMdE
(c) Yajurveda/ a5]de (d) Atharvaveda/ 3rdde

Ans.(d)Sol.The Atharva Veda is the
“knowledge storehouse of atharvanas, the
procedures for everyday life”. The text is the
fourth Veda, but has been a late addition to
the Vedic scriptures of Hinduism.The
Atharvaveda is sometimes called the “Veda
of magical formulas”.The Atharvaveda was
likely compiled as a Veda contemporaneously
with Samaveda and Yajurveda, or about
1200 BC - 1000 BC.Along with the Samhita
layer of text, the Atharvaveda includes a
Brahmana text, and a final layer of the text
that covers philosophical speculations.

3. The great law giver of ancient times was-
STeIeT el o HETel hisfeT alcll el I-
(a) Manu/Ag (b) Vatsyayana/ arc&I—I=T
(c) Ashoka/ 312l (d) Aryabhatta/ 3m3eg

Ans.(a) Sol.Manu-smriti is the popular name
of the work, which is officially known as
Manava-dharma-shastra. It is attributed to the

legendary first man and lawgiver, Manu.

The words Satyameva Jayate in the State
Emblem of India have been adopted from which
one of the following?

HRA & TS Yl H TIAT I Qsg, T A farad
H O e 379=TTar T g2

(a) Mundak Upanishad/ #ser 3ufase

(b) Brahma Upanishad/ sies 3ufaveg

(c) Mudgala Upanishad/ Fegrell 3ufave

(d) Maitreyi Upnishad/ &3 3ufawe

Ans.(a) Sol.”Satyameva Jayate” is a mantra from
the ancient Indian scripture Mundaka
Upanishad.Following the independence of India,
it was adopted as the national motto of India in
26 January 1950.The Mundaka Upanishad is an
ancient Sanskrit Vedic text, embedded inside
Atharva Veda.

Which of the following was a recommendation of
Hunter’'s Commission?

AT T & & FIT §X 31T hr RAwIier A2

(a) Women'’s education/ &Afgen3it &r frar

(b) New regulation for the organized senates
system/ TaTfsd Hiae gotrel & forw am
[CIGREC]

(c) Gradual withdrawal of state support from
higher education/ 3Ta RIeT & T & THAAA
&I - aId o T

(d) Introduction of civic education at college
and university level/ @ierst 3R farafaezme
TR W AR A& &1 aRk=

Ans.(a) Sol.Hunter Education Commission was a
landmark commission appointed by Viceroy Lord
Ripon with objectives to look into the complaints
of the non-implementation of the Wood’s
Despatch of 1854; the contemporary status of
elementary education in the British territories;
and suggest means by which this can be
extended and improved. This commission,
headed by Sir William Wilson Hunter, had
submitted its report in 1882.

Who of the following Prime Ministers sent Cripps

Mission to India? fAeaAfaf@d gener AR & & forget

AR 1 fored AR Siat ar?

(a) James Ramsay MacDonald (S&9 T&@d
HP3ITe3)

(b) Stanley Baldwin (EcsTell dTesidsT)

(c) Neville Chamberlain (aifder d&aRele)

(d) Winston Churchill (fd¥est afder)

Ans.(d)




7. Who is the Viceroy of India during Quit India
Movement ? HRd BIST 3iarelel & aRTel AR HT

AT HieT §?

(a) Linlithgow (ferstfererem)
(b) Cornwallis (pTeTaiford)
(c) Mountbatten (AT3edea)
(d) Munro (FR)

Ans.(a)
8. The foreign traveler who visited India during
the rule of the Guptas was? J[cdl & ATHT &

SRIeT TR 37Te aTer facel amt sl 42
(a) Hiuen Tsang (EJT &)
(b) Beriner (s¥eR)
(c) Fa-Hein (%r-gaT)
(d) Manucci (z’-\aﬁr)
Ans.(c)
9. Which ruler of Gupta Empire is also known
as“Napoleon of India”?{jl’«—crma?m

QTS T Ao 3iTh 331" & AT & off ST
ST 87

(a) Chandragupta I (Tga[ed 1)

(b) Chandragupta II (Zgd[ed 1I)

(c) Samudra Gupta (HHg o)

(d) Srigupta (#91ed)

Ans.(c)

The Kushans ruled in ? 90Tt & __# et

Rar?

(a) 1st century AD (Ugel 2rdTedT $TdT)
(b) 2nd century BC (GE{T AcTsdy $&T 79)
(c) 3rd century AD (NdY ardTsdr $adt)
(d) 5th century BC (dredt areredy &aT 9d)

Ans.(a)
11. Who among the following rulers organised
the Second Buddhist Assembly? fasfaf@a

AT H A fohatel g@dl st faermerasim &1 3mavster
fram?

(a) Ajatashatru (37aTiarrI)(b) Kalasoka
(FTerTeR)

(c) Ashoka (372l)
(37Te)

Ans.(b)

. To which king belongs the Lion capital at
Sarnath? T3 & i G FHC AT T TTLTA &

grifada g ?
(a) Chandragupta (dg7)(b) Ashoka (37iT)

10.

(d) Ananda

12

(23)

13.

14.

15.

16.

17.

18.

(c) Kanishka (&)

Ans.(b)
Under the Mughal rule the judicial service was
headed by ? HITeT M & dg AT Ah [l H

(d) Harsha (g¥)

aicfcahdr &

(a) Vakil (afeen) (b) Diwan (grareT)

(c) Qazis (aTat) (d) Mansabdars (H€ER)
Ans.(c)

Who among the following painters committed
suicide? fAFfoiad AR 7 & fohder 3caAgaar r
fr?

(a) Basawan (Sd1dd)
(c) Daswant (grHad)
Ans.(c)

The greatest painter of birds at Jahangir’s court
was ? JgENR &1 3ieTad & gferat &7 gad #AgleT TR
qT ?

(a) Basawan (94d1de)

(b) Mansur (H¥R)

(c) Syed Ali Tabrizi (¥€ 37elr dlsiiet)

(d) Khwaja Abdus Samad (EaTsiT 3fsgH HHE )
Ans.(b)

Jahangir (1605-1627 AD) was the ruler of which
dynasty ? STgPfR (1605-1627 §.) forg Tstaer &r
AR AT ?

(a) Nanda/ =g
(c) Maurya/ &l
Ans.(d)

Sol. Jahangir (31 August 1569 - 28 October
1627), was the fourth Mughal Emperor who ruled

from 1605 until his death in 1627
Who pioneered the guerrilla warfare methods?

TReeT gg TRt &1 Adcd e fnar?
(a) Babur/drsR

(b) Akbar/37hsR

(c) Shivaji/Rrarsit

(d) Bajirao Peshwa/aTsiRTa 9=m@r

Ans.(c) Sol. Shivaji pioneered the guerrilla
warfare methods

(b) Lal (eer)
(d) Mahesh (#g2r)

(b) Haryanka/ g%
(d) Mughal/ #arer

Humayun’s Tomb was built by ?
gﬂlq;an‘rﬂm o §eATIT AT ?

(a) Humayun/g?qT{{

(b) Hamida Banu Begum/g#Ier STAT §9T87
(c) Babur/atesR

(d) Akbar/37hsT

Ans.(b) Sol. Humayun’'s tomb (Magbara e
Humayun) is the tomb of the Mughal Emperor
Humayun in Delhi, India. The tomb was
commissioned by Humayun'’s first wife and chief
consort, Empress Bega Begum




19. UNESCO Cultural World Heritage site
Humayun Tomb’s construction completed in

UNESCO ? @iepicieh faRa eRIg Tel AR %

WWWWT{TETHT qr?
(a) 1572 AD (b) 1600 AD
(c) 1562 AD (d) 1570 AD

Ans.(a) Sol. The tomb was commissioned by
Bega Begum, Humayun’s Persian wife and
chief consort in 1565 AD, nine years after the
Emperor's death. It was completed in 1572
AD under the patronage of the Mughal
Emperor Akbar, the third Mughal ruler and
Humayun'’s son.

In Akbar’s regime, was the military

head ? 3{sheX & ATHART H, ¥ yoq@ ur ?

20.

(a) Sultan Ahmed Fawad/Hedlel 31gHS Hdlq
(b) Suri Moja/&d A

(c) Mir Khaas/#R @

(d) Mir Bakshi/#X s&i

Ans.(d) Sol. During Akbar regime, Mir
Bakshi was head of military department.
Who was the trusted General of the Mughal
emperor Akbar ? HITel HHIC 3ehsX T favaEd
AT e AT?

(a) Raja Todar Mal/ITSTT €8T At

(b) Man Singh I/&T &g 1

(c) Birbal/dRaer

(d) Tansen/dad=T

Ans.(b) Sol. Mann Singh I was the trusted
General of the Mughal emperor Akbar.

Aurangzeb was the sonof __ ? 3iReae
T g'ar qr ?

(a) Babur /eTsX(b) Humayun /g?TI’{T\

(c) Akbar /3/@s(d) Shah Jahan /2g ST&f

Ans.(d)Sol.Aurangzeb was born on 3
November 1618, in Dahod, Gujarat. He was
the third son and sixth child of Shah Jahan
and Mumtaz Mahal.

Qutub Minar is located in _____ ? &ds #leR
_ HRudg?

(a) Delhi/feeelr (b) Ghaziabad/mforarerg

(c) Noida/ailtsT(d) Gurugram,/aame

Ans.(a) Sol. The Qutub Minar is a minaret
that forms a part of the Qutab complex, a
UNESCO World Heritage Site in the Mehrauli area
of Delhi, India.

21.

22.

23.

(24)

24.

25.

26.

27.

28.

is a collection of architectural
astronomical instruments, built by Maharaja Jai

Singh II ? aE] TINCAY 3UHIVT T Teh
HIE &, S AR o1 &g gfadg eanr Affa & 2
(a) Jantar Mantar, Delhi /SidR #dR, Geolr
(b) Group of Monuments at Hampi /g&dr &
TART T THg
(c) Group of Monuments at Pattadakal
/TgSehel H THARDI T THG
(d) Nalanda, Bihar /sTTeier, fagR

Ans.(a) Sol. In the early 18th century, Maharaja
Jai Singh II of Jaipur constructed five Jantar
Mantars in total, in New Delhi, Jaipur, Ujjain,
Mathura and Varanasi; they were completed
between 1724 and 1735.

During Akbar’s reign who was the Finance Minister
of the Mughal empire? 37haR & ATHAARI h ST

HITST AIHTSY & fded AT Hhief &2
(a) Raja Todar Mal/3TSTT dleX Hel
(b) Man Singh /&1 &g 1

(c) Birbal/dRaer

(d) Tansen/d= A=

Ans.(a) Sol.Raja Todar Mal was the Finance
Minister of the Mughal empire during Akbar’s
reign. He was one of the Navaratnas in Akbar’s
durbar.

Chhatrapati Sambhaji (1680-1688 AD) was the
ruler of which dynasty? Sauafd g (1680-1688
g.) 5 9 & A A?

(a) Maratha/#TaT (b) Nanda/sar

(c) Haryanka/g3er (d) Maurya/#s¥
Ans.(a) Sol.Sambhaji was the second ruler of
the Maratha kingdom. He was the eldest son of
Shivaji, the founder of the Maratha Empire and

his first wife Saibai.
Birbal was an advisor in the court of ?

el fohaehl 3raTerd # Hollgeh & ?

(a) Babur/aTeR (b) Akbar/3tHs

(c) Aurangzeb/3iRersis(d) Jahangir/sigRik
Ans.(b) Sol.Birbal, or Raja Birbal, was a Hindu

Brahmin advisor in the court of the Mughal
emperor, Akbar.

Who was the first Muslim president of the
INC? INC T Ugell HIEeTH 3TEU4T il AUT?

(a) Womesh Chandra Banerji/ /e dg Setoif
(b) Abul kalam/ 3T§el Shelle

(c) Rahimtulla M. Sayani/ WEHAdeell TH HATT
(d) Badruddin Tayabji/ Se¥eieT Jaeolr

Ans.(d) Sol. The first Muslim president of the

INC was Badruddin Tayabji. ( 1887 at Madras
session )




29. The Junagadh rock inscription of
Rudradaman is in which language? ¥gerHd ol

SIeTeTe RIeTera fohay srsm & 872

(a) Sanskrit/ &&hd

(b) Pali/ arelr

(c)Prakrit/ 9rehd

(d)None of these/ 318 & PIS T

Solution: The Junagadh rock inscription of
Rudradaman, also known as the Girnar Rock
of Rudradaman, is a Sanskrit prose inscribed
on a rock by the Western Satraps ruler
Rudradaman I.

Which of the following ruler had organized
Maha Moksha Parishad once in every 5 years
at Prayag during his reign? mfaf@ad @
o QATHS o 3T ATHDTT H JIET H g 5 a¥ 7
Udh S HGT ST THT T TATSTeT T 2AT?

(a) Yashovarman / Iias=t

(b) Harsha Vardhana / g¥aeie

(c) Rajyavardhana / Jsaay

(d) Ashoka / 312l

30.

Solution: Harsha  organised religious
assemblies every fifth year of his reign at
Prayag (Allahabad). He held six such
assemblies  during his reign. These
assemblies were known as Maha Moksha
Parishad.

31. Who is known as the father of medicine in

India? #Ra # fra Rfscar & Bar & 7 &7 S
1T g?

(a) Atreya / 33 (b) Sushruta / g4
(c) Vagbhata / a@e#g  (d) Charaka / @3

Solution: Acharya Charak has been crowned
as the Father of Medicine. His renowned
work, the “"Charak Samhita®, is considered as
an encyclopedia of Ayurveda.

Who was the author of the Harshacharita?

FaRA ¥ AWF FhT A7
(a)Banabhatta / d1oTdHE

(b)Harshavardhana / g¥a¥ie
(c)Baskarvardhana / $T&haeiet

(d)Bindusara/ fd=gaR

Solution:Banabhatta is the author of
Harshacharita, a biography of his patron king
Harshavardhana.

‘Charaka-sambhita’ is related to?

(a)Yoga / 3T

(b)Magic / &G+

(b)Ayurveda / 3gde

(d)None of these / 578 & IS AGT

32.

33.

(25)

34.

35.

36.

Solution: The Charaka Samhita or Compendium
of Charaka is a Sanskrit text on Ayurveda
(Indian traditional medicine).

Which of the following ruler has established main
capital of his empire at Purusapura in Gandhara?

fArafafed & @ fhg amae o MR & IR A 39
A HT T ASTUTA T v 42

(a) Kanishka / &S

(b) Chandra Gupta Maurya / Teg 9o &4

(c) Samudra Gupta / ¥z [cdr

(d) Harshavardhana / g¥aeist

Solution: Kanishka I (&fas®), or Kanishka the

Great, was the emperor of the Kushan dynasty in
the second century (c. 127-150 CE). He is
famous for his military, political, and spiritual
achievements. A descendant of Kushan empire
founder Kujula Kadphises, Kanishka came to rule
an empire in Bactria extending from Turfan in
the Tarim Basin to Pataliputra on the Gangetic
plain. The main capital of his empire was located
at Purusapura in Gandhara, with another major
capital at Kapisa.

Which of the following ruler was the founder of

the Satvahana Empire? fasifaf@d & & i
HIAATEA ATHTST FHT TEATIH 2AT?

(a) Kanha / shregr

(b) Simuka / f@#®

(c) Hala / grer

(d) Gautamiputra / 3itc#igT

Solution: Simuka was the founder of the
Satavahana Dynasty and he is believed to have
destroyed the Shunga Power. He did so with the
aid of the Rathikas and Bhojakas. He reigned for
around 23 years and was beheaded by his
brother Kanha, who succeeded him.

Who among the following was a lady Alvar
Saint?

fArafaf@a # & &l v Afger 3rcay da &

(a) Andal/ 3iceT

(b) Madhura Kavi/ HYRT &

(c) Perumal/ 9%deT

(d) Tirupan/faeae

Ans.(a) Sol.The alvars, also spelt as alwars or
azhwars were Tamil poet-saints of South India
who espoused bhakti (devotion) to the Hindu
Supreme god Vishnu or his avatar Krishna in
their songs of longing, ecstasy and service.They
are venerated especially in Vaishnavism, which
regards Vishnu or Krishna as the Supreme
Being.Andal is the only female saint-poet in the
12 Alvars.




37. Who is the author of the autobiography, “The
Indian Struggle”?
g 33T TgaTa” ATHS HTcHSUT & JWF el §7?
(a) Annie Besant/ T ST
(b) Subhash Chandra Bose/ ¥ @ig; &g
(c) Chittaranjan Das/ Ricdieie g/ &
(d) Sardar Vallabhbhai Patel/ TRER TS
gcof Ans.(b) Sol.The great Indian Struggle,
1920-1942 is a two-part book by the Indian
nationalist leader Netaji Subhash Chandra
Bose that covers the 1920-1942 history of
the Indian independence movement to end
British imperial rule over India.Banned in
India by the British colonial government, The
Indian Struggle was published in the country
only in 1948 after India became

independent.

38. When was the All India Women’s Conference
founded?
3Tl HRAT AT FEACTA T TUTIAT Fe g5 A2
(a) 1924 (b) 1925
(c) 1926 (d) 1927
Ans.(d) Sol.All India Women’s Conference
(AIWC), the oldest national women’s

organization in India was born in January,
1927 in Poona.lt was founded in 1927 by
Margaret Cousins in order to improve
educational efforts for women and children
and has expanded its scope to also tackle
other women’s rights issues.The first
conference called the “All India Women’s
Conference on Educational Reform” was held
at Fergooson College, Poona from 5 to 8
January,1927 under the Presidentship of
Maharani Chimnabai Saheb Gaekwar of
Baroda.

(26)

40.

39. The Indian Independence League was set up
by:
3%11? sf3usw ofer carr wuifa fasar aram ar?
(a) Jayaprakash Narayan/ SIO9hIT ARTIOT
(b) Aruna Asaf Ali/ 30T 3 37T
(c) S.M. Joshi/ Tg.Us. Sirefr
(d) Rash Behari Bose/ 2T f9gr 1|

Ans.(d) Sol.To remove the British colonial rule
over India, Rash Bihari Bos, a veteran freedom
fighter, founded Indian Independence League in
1942 at Tokyo, Japan.During the Japanese
Occupation in Malaya, the Japanese encouraged
Indians in Malaya to join the Indian
Independence League. Established primarily to
foster Indian Nationalism and to obtain Japanese
support for the Indian Independence Movement,
the League came to interact and command the
first Indian National Army under Mohan Singh
before it was dissolved. Later, after the arrival of
Subhas Chandra Bose in South East Asia and the
revival of the INA, the League came under his
leadership, before giving way to Azad Hind.

A national religion called Din-i-llahi was
promulgated by

EIeT-TU-SolTe! sTHe TSI UH HT TaR fhdsh ganT forar
IJT AT?

(@) Akbar/ 3T&sT (b) Babur/ sTeX

(c) Humayun/ §?Tr{ (d) Aurangazeb/ 3iReeiE

(a)Sol.Din-i Ilahi “the religion of God,” was a
system of religious beliefs proposed by the
Mughal emperor Akbar in 1582 CE. The idea was
to combine Islam and Hinduism into one faith,
but also to add aspects of Christianity,
Zoroastrianism and Jainism — the latter an
ancient Indian creed which emphasized non-
violence and vegetarianism. The point, that is,
was to combine all India’s religion into one and
thereby to esnure national unity and peace.
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Mftie Ige |PHYSICS

50 MCQ'S Jiid Agcagdi Gl | Most Important Questions

1. A compass needle cannot be used to

detect

T HFATH I g§ F fFaeht 9d1 o & faw seaarer

TEt R ST et §2

(a) Magnetic North-South direction/ e
Sca-gfaroT feem

(b) Polarity of a magnet/ Teh gaeh T T

(c) Strength of a magnet/ Ts gah Fr AfFT

(d) Direction of magnetic field/ Jsehr &1 &r
fearm

Ans.(c) Sol. A compass needle cannot be
used to detect Strength of a magnet.
Indicate the false statement about the
resistance of a wire

T dR F a0 F I & Tad FUT ) ST FY
(a) It depend on material of wire/ Ig dR &

gerey

R R Far g

(b) It is unrectly proportional to the length of
wire/ g AR T €S & ToIT HTeTdTic &

(c) It is directly proportional to the area of
cross-section of wire/Jg dR & 3IIEYT H1C

el 3 forT FeTeIaTics §

(d) Resistance of metallic wire increases with
increase in temperature/ A9ATT & gfg &

ary

g1q & AR T FfRIY e §
Ans.(c) Sol. The resistance of a current
carrying conductor is inversely proportional to
the area of cross section of the conductor. The
reason is because the resistance occurs due to
the collision of electrons/charged particles.So
resistance is inversely proportional to area of
cross section of the conductor.
For which of the following substances, the
resistance decreases with increase in
temperature?
frafaf@a et # ¥ fred argerme & fg & wrr
9faRYer e g AT 82
(a) Pure silicon/ g[& faferenlet
(b) Copper/ drsT
(c) Nichrome/ T
(d) Platinum/ colfessr
Ans.(a) Sol. Pure Silicon at room temperature
has perhaps one conduction electron for every

1013 (that’s ten trillion) atoms. Increasing the
temperature of intrinsic semiconductors

provides more thermal energy for electrons to
absorb, and thus will increase the number of
conduction electrons. Voila - decreased
resistance.

. The ratio of intensity of magnetisation to

the magnetisation force is known as
Gashcd Y A1GdT FT ahed a8 F Hura H1 frg &
H SATAT ST §?

(a) flux density / Tl Yelcd

(b) susceptibility / Tageefrerdr

(c) relative permeability / delelicHe Sedr

(d) none of the above/3TH & IS &Y

Ans.(b) Sol. In electromagnetism, the
magnetic susceptibility is one measure of the
magnetic properties of a material. The
susceptibility indicates whether a material is
attracted into or repelled out of a magnetic
field.

When a bar magnet is cut into two equal
halves, the pole strength of each piece
99 T IR ga & aua? |t & Fer s g, a
Y% ghs I Ya ufFd

(a) Becomes double/gdT=T g STl &

(b) Becomes half/3met g SiTehr &

(c) Becomes zero/[= & SIcl &

(d) Remains the same/dATT I&dr &

Ans.(d) Sol. When a bar magnet is cut into
two equal halves, the pole strength of each
piece Remains the same.

. The height of a geo-stationary satellite

from the earth’s surface is

approximately? gt #t @ ¥ o-fFuT 3warg #r
FUTE T FohcsiT 872
(a) 36,000 km (b) 42,000 km

(c) 30,000 km (d) None of these
Ans.(a) Sol. Communication satellites and
weather satellites are often provided with the
geostationary orbits which are the circular
orbits 35786 km above the earth’s equator.
Due to this the satellite antennas that
communicate with them don’t need to move to
track them but can be located permanently at
the position in the sky where they stay.

. The atmospheric air is held to the earth

by? aRIASHERT gaT Tt W BFA & FROT T4 el §

?
(a) gravity/ ecareyoT
(b) winds/ gar




10.

(c) clouds/ sTger
(d) rotationn of the Earth/ gedT & gofe

Ans.(a) Sol. The atmospheric air is held to the
earth by the force of gravity which holds down
the atmosphere. The atmospheric air
molecules cannot escape the gravitational pull
of the Earth as the escape velocity on the
Earth’s surface is 11.2 km/s. At the moon’s
surface the value of escape velocity is 2.38
km/s so there is no any atmosphere around
the moon.

The minimum number of geostationary
satellites needed for uninterrupted global
coverage is ?

forater das Favar & fow of-FeR s9arEt it fraeh
TTAH HEAT HTATF § ?

(a) 3 (b) 2

(c) 4 (d)1

Ans.(a) Sol. Minimum three geostationary
satellites are needed for the uninterrupted
global coverage.

. We always see the same face of the

moon, because ? & §AAT IGHAT &I TH g g
cEa &, FifF ?
(a) it is smaller than the Earth/ Ig qedr &
oleT &
(b) it revolves on its axis in a direction
opposite to that of the Earth/ Jg gzdr &

faodia ferem 3 379t 4 R g §

(c) it takes equal time for revolution
around the Earth and rotation on its

own axis / JZdT & °RT 31T ifd 3T 3de
3767 IR goieT & foIT SR AT 91T &

(d) it rotates at the same speed as the
Earth around the Sun/ Ig §& & IRT 3R

gedl & AT MM & GAT &

Ans.(c) Sol. The synchronous rotation causes
the moon to be present just one side to the
earth all the time.
This synchronous rotation is the result of tidal
locking which occurs when the gravitational
gradient makes one side of an astronomical
body always face another.
A tidally locked body takes just as long to
rotate around its own axis as it does to revolve
around its partner. This causes one
hemisphere constantly to face the partner’s
body.
The term equinox means ? 3FdAFH UAsg FT
FFFaTE ?
(a) the path which the Earth takes around

the sun/ @ AT ST g2dl g & °RT 3R

AT E
(b) the axis of the Earth around which it

rotates/ gl s 31eT foraeh TRT 3R gA &

(c¢) when the day and night are of equal

(28)

11.

12,

13.

duration/ J1§ &7 3R T SRTeR @i &

gl g
(d) the time when the Sun seems to be

going round and round in the sky in the

arctic but does not go below the

horizon/ a8 EHY Sd FF 3Tehieah 7 3Tehrer

& arer-aMrel G § oifehet faifaer & o a7t

ST 8.
Ans.(c) Sol. Around the equinox, the night
and day have approximately equal length.
An equinox happens twice a year (around 20th
March and 22nd September), when the tilt of
the earth’s axis is inclined neither away from
nor toward the sun while the centre of the sun
remains is the same plane as the Earth’s
equator.
At the time of equinoxes the sub-solar point
lies on the equator.
This point crosses the equator moving
Northward at the march equinox and crosses
the equator moving Southward at the
September equinox.
Two bodies kept at a certain distance feel
a gravitational force F to each other. If
the distance between them is made
double the former distance, the force will

be ? & 3R #I v ARTT gt W v gt & 91
TEcaTHYOT I F F1 AEHH L& & fov @1 SA1et 8.
I 3o At & v Ay gt 1 g g @ S R
STaT g, af o g9 ?

(a) 2f

(c) 4f

Ans.(d) Sol. f «c1/r?

As given in the questions
fec1/(2r)?

= foc1/4r?

~fr=f/4

The shape of our Milky way galaxy is ?
A TRTRAIIT FT HTHFR FATE ?

(a) circular/ MR

(b) elliptical/ &rer geameh

(c) spiral/ afder

(d) None of these/a=T& & H1S =g

Ans.(c) Sol. The shape of our milky way
galaxy is spiral of 100000 -120000 light-years
in diameter having 200-400 billion stars. Our
solar system is contained into the milky-way
galaxy.

This name has been derived from its
appearance as a dim milky glowing band
arching across the night sky, in which the
individual stars cannot be distinguished by the
naked eye.

The critical angle for light passing from

glass into air is minimum for? 7o & arg #
TSR T YHIT FT Hifas Hror frad v wgeas
garg?

(b) 1/2f
(d) 1/4f




14.

15.

16.

17.

(@) Red light /dITel 9eh1er

(b) Yellow light /dreT 9ehrer

(c) Green light /g3 "ehr?r

(d) Violet light / saTeiT geprer

Ans.(d) Sol. Critical angle will be directly
proportional to velocity of particular color of
light (Sinc directly proportional to v), which is
minimum in the case of violet color.

When the length of the tube of a
microscope is increased, its magnifying

power ? S¥ U& ABHIEHIT HT I Y oa1S 96

ST 8, aY ST 3made afFd ?

(a) Decreases /&€ STl &

(b) Increases/ 9 STcY &

(c) Remains constant /TN g &

(d) None of the above /378 & 1S FET

And. (a)

A compass needle cannot be used to

detect ? T& FFIIH A F$ F huh1 91 T F

AT AT AL FFAT AT FHAT 8?

(a) Magnetic North-South direction/ dsshrr
ScaT-glaroT feem

(b) Polarity of a magnet/ Teh gaeh T gTdr

(c) Strength of a magnet/ Teh Tsieh s ATkl

(d) Direction of magnetic field/ I &1
& fear

Ans.(c) Sol. A compass needle cannot be used
to detect Strength of a magnet.
Indicate the false statement about the

resistance of a wire ? T dR & YA & IR &
AT FUT A AT Y ?
(a) It depend on material of wire/ Ig dR &

gerel 9T AR T §
(b) It is unrectly proportional to the length
of wire/ g AR T FaTS & foIT HTeTdTIcTh &
(c) It is directly proportional to the area of
cross-section of wire/Jg dr & I

FIC &1l & ToIT FATIIIdS &

(d) Resistance of metallic wire increases with
increase in temperature/ d9HT # gig &

Y 4T & AR T TRIY Tecl &

Ans.(c) Sol. The resistance of a current
carrying conductor is inversely proportional to
the area of cross section of the conductor. The
reason is because the resistance occurs due to
the collision of electrons/charged particles.So
resistance is inversely proportional to area of
cross section of the conductor.

For which of the following substances, the
resistance decreases with increase in

temperature ? Amafaf@d et & ¥ fFas
AT ¥ R & Ay ufay FA @ ST ¥ 2

(29)

18.

19.

20.

21.

(a) Pure silicon/ g faforele
(b) Copper/ drsT

(c) Nichrome/ fasIa

(d) Platinum/ cifeas

Ans.(a) Sol. Pure Silicon at room temperature
has perhaps one conduction electron for every
1013 (that’s ten trillion) atoms. Increasing the
temperature of intrinsic semiconductors
provides more thermal energy for electrons to
absorb, and thus will increase the number of
conduction electrons. Voila - decreased
resistance.

The ratio of inte nsity of magnetisation to
the magnetisation force is known as ?

Gashcd Y AT FT adhed a8 F Hura H1 frg &
AFAET AT ?

(a) flux density / Tl Yelcd

(b) susceptibility / Tageaefrerdr

(c) relative permeability / defelicHe Sgdr

(d) none of the above/ssT8 & FIg AgT

Ans.(b) Sol. In  electromagnetism, the
magnetic susceptibility is one measure of the
magnetic properties of a material. The
susceptibility indicates whether a material is
attracted into or repelled out of a magnetic
field.

When a bar magnet is cut into two equal
halves, the pole strength of each piece ?

S U IR g a are Rl F Hrer Srar g,
Y As ghs T Ya AfFd ?

(a) Becomes double/gdT=T g STl &

(b) Becomes half/31et g Sy &

(c) Becomes zero/ &I S &

(d) Remains the same/d# T |l &

Ans.(d) Sol. When a bar magnet is cut into
two equal halves, the pole strength of each
piece Remains the same.

A closed surface has 'n’ electric dipole
located inside it. The net electric flux
emerging out of the surface-

UF §¢ wag # 'n’ fagga gfiya 31 was ¥ e

et gt g ey vare frder gem?
(a) ne/gg (b) 2e/¢gq
(c) 2ne/g, (d) zero

Ans.(d) Sol. The net flux will be zero as the
electric field lines entering the negative end of
the dipole will be exactly cancelled by the
electric field lines leaving the positive end of
the dipole.

In electromagnetic induction, the induced

charge does not depend on ? fagga gFahry
WoT A, IR 157 g W AR A Far g ?

(a) Change in flux / 9aTg & Sgad

(b) time of change of magnetic flux /




22,

23.

24.

25.

26.

IhI aTg % IRacH 1 G
(c) Resistance of Coil / @ @1 Ay

(d) None of the above /313 & HI$ =T8T

Ans.(b) Sol. Induced charge does not depend
upon time of change of magnetic flux, as
Induced charge Q = nAT@R

Lenz’s law is a consequence of the law of
conservation of ? d=s &7 fAgd F
TETOT & FleleT HT TF GROMA & ?

(a) Charge /drst (b) Momentum / a1fa

(c) Energy / 3ot (d) Mass/geTdTT

Ans.(c) Sol. According to Lenz law, the
polarity of the induced emf is such that it
opposes the change in magnetic flux

responsible for its production.

A magnetic field can be produced by ? &

I &Y 5 F ganT 3cafed fFar s awar g ?

(a) A moving charge only /arfaefier amer

(b) A changing electric field only / Faedl
aRafdeer fega &

(c) Both (a) and (b)/art (a) 3R (b)

(d) None of the above /378 & FIg FAGT

Ans.(c) Sol. Magnetic field is produced both
by a moving charge and change in electric field
The unit of electrical resistance of a

conductor is? & dre® ¥ fagga afaier Hir s
&

(a) fared /™3 (b) volt /atee

(c) ampere / TFIIX (d) Ohm /378
Ans.(d) Sol. Ohm is the SI unit of electrical
resistance. 1 ohm is define as the resistance of
a conductor when a potential difference of 1

volt is applied to its ends when a current of 1
ampere flows through it

It is difficult to walk on any oily floor
because ? f¥ #ff defr wyer W T ARE ghar
& FifF ?

(a) Floor gets spoiled / ®T WIS & ST &

(b) There is more resistance / 31f&% g¥or

glar g
(c) Force of friction is high / a¥oT §aT 31f8%

BT &

(d) Force of friction is very less / &¥0T §of

98 A BT &
Ans(d) Sol. It is difficult to walk on oily
surface because the surface has less friction.
We can walk only if there is more friction. So
we slip easily thus it is hard to walk on an oily
floor.

The coefficient of static friction is ? ¥ifa®
T T IVF FAT AT 8 ?

(a) Less than the coefficient of kinetic friction/

(30)

27.

25.

26.

aifast a¥or & fAdens & wa

(b) Greater than the coefficient of limiting
friction/ EYUT &t WAT aar & Eenw T

3ifees

(c) Equal to coefficient of kinetic friction/ 3rfasr
Ty & fAGenE & R

(d) Equal to the tangent of the angle of friction
/ EYUT 3 10T & TALRAT & ST

Ans(d) Sol. The angle which the resultant of
the limiting friction and the normal reaction
which makes the normal reaction is called the
angle of friction. But the tangent of the angle
of friction is equal to the coefficient of static
friction.

A matchstick struck on a matchbox

catches fire easily because ? #tfaw & dielt

FI AT & Fod I WS T ITHTAT A 3797 ofarelt §

Fgife ?

(a) Friction may cause fire / 0T & 311 4T
TRl &

(b) of chemical reaction / TETAfH Tfafshar &t
asE |

(c) Force heated the match stick/ el & &ROT
i & faeelr areT g =it

(d) None of the above /378 & HIg AT

Ans(a) Sol. A matchstick is a small stick of
wood with a solidified mixture of flammable
chemicals deposited on one end.When that end
is struck on the side of the matchbox which is
a rough surface the friction generates enough
heat to ignite the chemicals and produce a
small flame.

Tyres are treaded to ? ¥ & F41 &5 fFar

AaTE ?

(a) To look good /37=aT fe@ar & farw

(b) Increase friction / 80T SeTe & forw

(c) To increase its longevity / TI &f&ll 35
go & faw

(d) To increase weight of the tyre / e&X 1
golel 9elel & ol

Ans(b) Sol. Tyres are treaded to Increase
friction.

Lubricants are substances which ? Tg&®

qg qard § St ?

(a) Increases friction / €U &l S&IdT &

(b) Are used to light fire/ 319T ST & FEF
Mg

(c) Reduces friction / €¥0T & AT &

(d) Are used to put off fire / 3T g2 & FTH
Aag




27.

28.

29.

30.

31.

Ans(c) Sol. Lubricants are substances which
Reduces friction.
Sliding friction is ——-than to rolling

friction ? e edor, (AT erdor HiY Foar &
g g ?

(a) Smaller/&d (b) Greater/3if&8®

(c) Equal/@#dtT (d) None of the above/3TH &
IS ALl

Ans(b) Sol. Rolling reduces friction while
sliding increases friction.

The frictional force exerted by fluids is
also called ——- ? &¥a g ganT 3cqfora aeor
T Y ft FETSATATE ?

(a) Drug/ a1 (b) Drag/ga

(c) Drop/3t@ (d) Drown/3IeT
Ans(b) Sol. The frictional force exerted by
fluids is known as drag.

Four children were asked to arrange
forces due to rolling static and sliding
frictions in a increasing order. Their
arrangements are given below Choose the
correct arrangement ?

IR o4l ® dead ®H F A 2few ik wesfE

YT & HROT Tl H STTEAT FIA & AT FHgr 47 4|

A sgaeyr AR § wE ¥ WA cyIEAT IO

(a) Rolling, Static, Sliding / ifeier, T,
Tesfear

(b) Static, Rolling, Sliding / Tfea, ferT,
Tesfear

(c) Rolling, sliding, static/ QfeiT, FamsfaaT,
wefew

(d) Sliding, static, Rolling / TamsfEar, i,
felar

Ans(c) Sol.Rolling friction is lesser than both
static and sliding friction. Thus, the correct
sequence of frictions is Rolling, sliding, static.
A boat or an aeroplane has a pointed or
tapering front/head. Why ?

UF 19 AT §aATS STGTST H1 T sJehrant AT qRaT e /

3 gar ¥ 42

(a) To increase the friction of fluid / %
geTe & TYUT Fl Fel & folT

(b) To reduce the friction of fluid / a3a
gere & gYuT il A A F T

(c) To look qood/ 3r=aT i@t & farw

(d) For no reason/ T T a=ig &

Ans(b) Sol. The special shape given to the
bodies moving in the fluids like ships in water
and aeroplanes in the air to reduce the fluid
friction is called streamlined shape.

The sole of the shoes becomes plain after

wearing it for several months. The reason

(31)

32.

33.

34.

is ? &% AN aF & UgaAa % q1G S HT Aoral

HUTE §) SATAT §. HROT § HI-2?

(a) Wearing out due to friction / &¥oT &
FHROT fOHaT

(b) Wearing out due to no friction / a¥uT
g1 & FROT g

(c) Sole is of bad quality / delar @I«
I[UTd T &I §

(d) None of the above /378 & FIg AT

Ans(a) Sol. The sole of the shoes becomes
plain after wearing it for several months The
reason is wearing out due to friction.

White light is made up of seven colors.
What is the method of separating the

colors ? aTse dTsc AT TNt & T gt §. o &Y
AT HA N AT FTE 2
(a) By passing it through a prism / 38 B
I X
(b) By filtration / fa¥dgeT ganrT
(c) Can't be separated / 37eleT TgT fohaT ST
Hehdr
(d) Both (a) and (b)/(a) 3R (b) gt
Ans.(a) Sol. The speed of light and its
components vary inversely with the refractive
index of the medium. Refraction is the
deviation in the path of light when it travels
from one optical medium to the other.
Different wavelengths experience different
degree of deviation. As a result, white light
splits into 7 colours (VIBGYOR) on passing
through the prism.

Retina of the eye is comparable to which
of the following parts of a traditional

camera? 3@ & AT IRafs ¥ F Aeafaf@a
fewui @ geeita & 2

(a) Film / fea (b) Lens / o[@

(c) Shutter / €T (d) Cover / aX

Ans.(a) Sol. Retina of the eye is comparable
to the film of a traditional camera. Retina is a
film of nerve fibres. Image of the object is
formed at retina just like camera film is used
to see the images.

The filament of an electric bulb is made of

? facgd aea &1 framic e A aar gar e ?

(a) copper/ dreT

(b) Aluminum / 3regeifaas

(c) lead /<8

(d) tungsten / carFe

Ans.(d) Sol. Filament of bulb is made of
tungsten because of its high melting point

(3422°C), lowest vapour pressure and great
tensile strength. Hence, when current passes,




35.

36.

37.

38.

39.

it gets heated to emit light but does not melt
or expand.
Which mirror is used as a rear view mirror

in the vehicles? amgeil # R g AR F w0 7
fFer gdor 1 IuFher fRaT SITeT 872

(@) Plane / §Ad

(b) Convex / 3cdel

(c) Concave / 31adel

(d) Plano concave / Tolsl 3iadel
Ans.(b) Sol. Convex mirror is a diverging
mirror used as a rear view mirror in the
vehicles as it covers wide range of vehicles
coming behind.
The reason of mirage is ? fAUST FTFROTE ?
(a) Interference of light / JeTer T g&d&IT
(b) Diffraction of light / weprer &1 faader
(c) Polarization of light / JehTeT 3T ¢eiiehioT
(d) Total internal reflection of light / 91?1

&1 Fel ITARF Ffafda
Ans.(d) Sol. Mirage is an optical illusion. The
reason of mirage is total internal reflection of
light.
In summer air near the ground is hotter and
hence rarer than the air above which is

responsible for TIR, hence, mirage is formed.
To hear a clear echo, the minimum

distance should be ? t& ¥qv¢ a1/ gfaeafa
g & f, =geras gt fhae g =mfew ?
(a) 165 feet / ®ie (b) 165 metre / #Hex

(c) 16.5 feet / $re(d) 16.5 metre / AR

Ans.(d) Sol. To hear a clear echo, the

minimum distance should be 16.5 metre.

A cut diamond sparkles because of its ?

T IR §IT ERT TR A gt § gHbAT § ?

(a) hardness / ®3Rdr

(b) high refractive index / 3= 39dad®
GEIED

N

(c) emission of light by the diamond / &R
EART JeIA & ScHolel
(d) absorption of light by the diamond / &R

CART YehIRT T TR0

Ans.(b) Sol. Diamonds have a very high
refractive index (about 2.42 compared to
about 1.5 for glass). The amount of light
reflected at an air/other material interface is
related to the refractive index charge at the
interface and the bigger the refractive index
change, the more light is reflected. Thus,
diamond reflects large amount of light and
therefore, sparkles more.

A vibrating body ? T HTddr g3 R ?
(a) will always produce sound / §H2IT &afer

40.

41.

42.

3ol M
(b) may or may not produce sound if the
amplitude of vibration is low / &9eT &1

3TATA &A gled W &afad 3cTeeT X HY el
& 3 At o

(c) will produce sound which depends upon
frequency / &afel 3cdest AT ST 3Tgfeet

X IR AT &

(d) None of these /313 & IS AGT

Ans.(c) Sol. A vibrating body will produce
sound which is dependent upon the frequency.
Sounds of frequencies less than about 20
vibrations per second (20 Hz) cannot be
detected by the human ear.
Such sounds are called inaudible. On the
higher side, sounds of frequencies higher than
about 20,000 vibrations per second (20 kHz)
are also not audible to the human ear.

The special technique used in ships to
calculate the depth of ocean beds is ?

HETHRT Y TGS Y 70T F AT STgTait F 9gaa
Ry gl Fa1 § ?

(a) LASER

(b) SONAR

(c) sonic boom / tafel g7

(d) reverberation/ ufaeafar

Ans.(b) Sol. SONAR or sound Navigation and
Ranging is helpful for exploring and mapping
the ocean because sound waves travel farther
in the water than do radar and light waves.
These also determine the time between the
emission of sound pulse and its reception, the

transducer can determine the range and
orientation of the object.
While, LASER is a device that emits light

through a process of optical amplification
based on the stimulated emission of
electromagnetic radiation. Whereas, sonic
boom is the sound associated with the shock
waves created by an object travelling through
the air faster than the speed of sound. On the
other hand, reverberation is the prolongation
of a sound.

Mercury thermometers can be used to
measure temperature up to ?

fraa aTIATT & AT F AT IRT YATHET FT 39T
Far ST aFarg ?

(a) 260°C (b) 100°C
(c) 360°C (d) 500°C
S1. Ans(c) Sol. Mercury thermometers cover

a wide temperature range from —37 to 360 °C.
The temperature of a gas is measured

with a ? 3 F1 aUA FES IR AT AT §?
(a) platinum resistance thermometer /

colfeaar gferTeyr aaeeR
(b) pyrometer / grsidiex




43.

44.

45.

46.

(c) gas thermometer / 39 2@
(d) vapour pressure thermometer / arsq

T THTHIT

S2. Ans(b) Sol. The temperature of a gas is
measured with a pyrometer.
The temperature of the sun is measured

with ¥ FT arqareT & |y AT
ST g
(a) platinum thermometer / Taifeas aaTHex

(b) pyrometer / 9E#FH
(c) gas thermometer / 3T T&AHRT
(d) vapour pressure thermometer / ar~q g

uATHeT

S3. Ans(b) Sol. The temperature of the sun is
measured with pyrometer.
Fahrenheit scale divides two fixed points

into ? FReAETSE Tt af fafvaa Rigai w1 fraar smr
# Ranfoa sxar g 2

(@) 180 parts /180 #13T(b) 212 parts /212 &A1
(c) 100 parts /100 #191(d) 32 parts /32 #A1aT

Ans(a) Sol.Fahrenheit scale, the space
between the two fixed points is divided into
180 parts.

SI unit of heat is ?F5AT & SI §FT$ FATE ?
(a) Calorie / &anr

(b) Joule / Siter

(c) Kelvin/ &feasT

(d) None of these/ $TH & ig gl

Ans(b) Sol. The SI unit of heat is Hoyle
named after a famous scientist joule.

A closed surface has ‘n’ electric dipole
located inside it. The net electric flux
emerging out of the surface-

UF ¥ §ae # 'n’ fagga gfaya ¥ waw d A

e ara eg faggd yare e grm?
(a) ne/e_0 (b) 2e/¢_0
(c) 2ne/e_0 (d) zero / =

Ans.(d) Sol. The net flux will be zero as the
electric field lines entering the negative end of
the dipole will be exactly cancelled by the
electric field lines leaving the positive end of
the dipole.

(33)

47.

48.

49.

50.

In electromagnetic induction, the induced
charge does not depend on -

farega g wvor F, IR T fFe W e A

HIAT§ -

(a) Change in flux / 9da1g H Sceld

(b) time of change of magnetic flux / T
9dTg & IRAde &l TAT

(c) Resistance of Coil / @ T farer

(d) None of the above /378 & H1S =Tg

Ans.(b) Sol. Induced charge does not depend
upon time of change of magnetic flux, as
Induced charge Q = nAT@R

Lenz’'s law is a consequence of the law of
conservation of-

et &1 s & HI&TOT & e HT
TS RO §

(a) Charge /arst  (b) Momentum / aifa

(c) Energy / 3aiT  (d) Mass/gcgaTeT

Ans.(c) Sol. According to Lenz law, the
polarity of the induced emf is such that it
opposes the change in magnetic flux
responsible for its production.

A magnetic field can be produced by-

UF gah &1 fhe F qanr senfea frar s wwar §
(a) A moving charge only /arfaefrer amer

(b) A changing electric field only / &adl
aRafferr Reze &

(c) Both (a) and (b)/arAt (a) 3R (b)

(d) None of the above /378 & HIg AT

Ans.(c)

Sol. Magnetic field is produced both by a
moving charge and change in electric field

The unit of electrical resistance of a
conductor is-

U AT & ey afare A s §-
(a) fared /™5 (b) volt /atee
(c) ampere / TFRR (d) Ohm /3g#H

Ans.(d) Sol. Ohm is the SI unit of electrical
resistance. 1 ohm is define as the resistance of
a conductor when a potential difference of 1
volt is applied to its ends when a current of 1
ampere flows through it
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1. Acids reach with bases to give-

s F &R & 9T TfAfHar 3 9% gTea gt
gl

(a) Ester/t&eX (b) Alcohol/3Tehigd
(c) Salt/@#\ s (d) None/&Is sT&r
Ans(c) Sol. The reaction of an acid with a

base is called a neutralization reaction. The
products of this reaction are a salt and water.

. The pH value of milk is—-

gy &1 dfiue AT -
(a) 2. 4 (b) 3.8
(c)6.6 (d) 8.0

Ans(c) Sol. Fresh cows milk has a pH of
between 6.7 and 6.5. Values higher than 6.7
denote mastitic milk and values below pH 6.5
denote the presence of colostrum or bacterial
deterioration. Because milk is a buffer
solution, considerable acid development may
occur before the pH changes. That would
make it very slightly acidic.

. The pH of water at 25°C is 7. When it is

heated to 100°C, the pH of water-
25 ° C W qrelt &1 fivw 7 @1 81 Sl 38 100 ° C

asaH TS g, A v Ffea F

(a) Increases/3fg gl &

(b) Decreases/&#T gidT &

(c) Remains same/d#T &dT &

(d) Decreases up to 50°C and then increases./
50° C T g¢ 1T & 3R Y §¢ S1ar g

Ans(b) Sol. pH decreases with increase in

temperature. But this does not mean that

water becomes more acidic at higher

temperatures.
Hydrochloric acid is also known as

. TssiFd IS vfds &t F T A oY ST ST
gl

(a) Galic acid/3fers tfas

(b) Picric acid/ftRe tias

(c) Muriatic acid/gRufes vfds

(d) Chloric acid/FaRe Tias

Ans(c) Sol. Muriatic acid is one of the names
for hydrochloric acid, a corrosive strong acid.
It is also known as spirits of salt or acidum
salis. “Muriatic” means “pertaining to brine or
salt”. The chemical formula for muriatic acid is
HCI.

. The purest form of water in nature is

TFHfa # T FT YGAA T ¢-
(a) Rain water /asT-sTef

(b) Lake water/afrel T STet
(c) River water/=I¢r &T et

(d) Sea water/aHgsTel

Ans(a) Sol. Rain water is considered the
purest form of water. Impurities and salts
present in water on earth are left behind
during vaporisation by the sun. However, the
rain water we receive on earth is not
necessarily pure, as it brings down impurities
and particles present in the atmosphere along
with it.

Which one of the following liquids is very
good conductor of heat?

foesr & ¥ FIT AT AT FAT FT WAR ST FATAF
x4

(a) Mercury /ART (b)Water / 9reit

(c) Ether / 3R (d) Benzene/ ssiteT
Ans.(a)Sol. Mercury is a chemical element
with the symbol (Hg). Mercury is used in
thermometers due to its special properties. It
can measure a wide range of temperatures
from - 40 to 356°C and up to 570°C under
pressure in a liquid state. It expands changes.
A heavy, silvery d-block element, mercury is
the only metallic element which is found in
liquid state at standard conditions for
temperature and pressure.

Which one of the following metals is
liquid at ordinary temperature?

frafaf@a argsit & & #ta & arq s arere
W R §?

(a) Lead / &3 (b) Nickel/ @%er
(c) Mercury /91T (d) Tin / fe=t

Ans.(c)Sol. Mercury is the only common
metal which is liquid at ordinary temperature.
Mercury is sometimes called quicksilver.
Mercury is basically used in thermometer
devices because its epeciality is

URT S T § JATHET ITFI0N 7 3941 B simar @
e o e &

(a) High density/ 3=9 gelca

(b) High liquidity/ 3= alerdr

(c) Good conductor of heat/ FAT & 3/ee FaTelh

(d) High specific heat/ 3=a fafrse It

Ans.(c)Sol. Mercury is easily the best liquid to

use in thermometers, five important reasons

are -

It is very reflective, so it's easy to see and to

read accurately.

It doesn’t wet the glass, so you don’t get an

inaccurate reading if the temperature is

falling.




10.

11.

12,

It is metal, so it's good conductor of heat.

It expands evenly with the temperature so a
linear scale can be used with a high degree of
accuracy.

there is a large of range of temperature for
which it is a liquid

. There is no reaction when steam passes

over
1T & F IR W oA W H$ wfafewar &t
gt 8.

(a) Aluminium/ TegfaTTH (b) Copper/
arer

(c) Carbon/ e (d) Iron/ 3RRA
Ans.(a) Sol. There is no reaction when steam
passes over aluminium.

Iron is obtained from

A ¥ yTed T ST -

(a) Limestone/ TeIT e

(b) pitch-blende/ fdseis

(c) Monazite sand/ AlsIese Id
(d) Hematite/ g#cse

Ans.(d)Sol. Iron ores are rocks and minerals
from which metallic iron can be economically
extracted. The ores are usually rich in iron
oxides and the iron itself is usually found in
the form of magnetite (Fe304 - 72.4% Fe),
hematite (Fe203 - 69.9% Fe).

Easily soluble in water-

aret & AT @ gereefie 2-

(a) Carbon/&resT

(b) Nitrogen/=TTgeistel

(c) Ammonia/3@Aifaar

(d) Iodine/3Ta8T

Ans. (c)Sol. Ammonia being a polar molecule
dissolves readily in water. This is due to the
Hydrogen atoms of Ammonia which are
bonded with a highly electronegative Nitrogen
and the Hydrogen atoms of water molecules
which are bonded with the highly
electronegative Oxygen atom.

Which is used as Laughing gas is—

g A (fher ) & T F 3gAYer Y A arelt
3w 3-

(a) Nitrous Oxide / ASeH FASS

(b) Nitrogen dioxide / slTScIsieT SB3TFASS

(c) Nitrogen Trioxide / ATSeIST T3 TFASS

(d) Nitrogen Tetra Oxide / ATl I3 TFASS
Ans.(a) Sol. Nitrous Oxide (N_2 O) is also
known as laughing gas. It is a colourless gas
with a sweet odour and taste. Inhalation leads
to disorientation, euphoria, numbness, loss of
coordination, dizziness and ultimately a loss of

consciousness. It is also used as the
anesthetic gas.

(35)
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14.

15.

16.

17.

Which one of the following is also called
Stranger Gas?

frfaf@d # & 5 w&or 3w sit a1 ST 2
(a) Argon / 33T

(b) Neon / =3

(c) Xenon / FHlsTeT

(d) Nitrous Oxide / siTseH 3TFHTSS

Ans.(c)Sol. Xenon is a chemical gas with
symbol Xe and atomic number 54. It is a rare,
odourless, colourless, tasteless, chemically
unreactive gas. Xenon gas is also known as
stranger gas as its volume is low in the
atmosphere (0.08 parts per million of xenon).
It was discovered in England by the Scottish
chemist William Ramsay and British chemist
Morris Travers in 1898.

The gas used to inflate the tyres of an
aircraft is-

FRAT SR Ao & R sl @ da
qAYeT fRaT SATaT 82

(a) Hydrogen / gr@sisieT (b) Nitrogen / ATSgrete
(c) Helium /@&femd (d) Neon / sgeT

Ans.(b)Sol. Nitrogen gas is used in the types
of an aeroplane. This is because the nitrogen
gas does not support combustion and can
assist in preventing wheel fire when the
aircraft lands (braking and high speed can
produce dangerously high temperatures)
unlike in oxygen. There are other benefits but
effectively it is being the lowest cost gas that
does not support combustion. It is preferred in
comparison with the oxygen because nitrogen
does not contain water. Thus, when the plane
is at more height, gas in tyres does not get
frozen.

Out of the following is not an alloy?

frafaf@a # & o1 &t o P arg adi §2
(a) Steel /T (b) Brass / drder

(c) Bronze / &g (d) Copper / &R
Ans.(d) Sol. Copper is a metal, however
steel, brass and bronze are alloys.

Which among the following is white
phosphorus?

fAmafaf@a & & wla ar a¥g wreeRa 2

(a) P1 (b) P6

(c) P4 (d) P5

Ans.(c) Sol. The most important form of
elemental phosphorus from the perspective of
applications and chemical literature is white
phosphorus. It consists of tetrahedral
P4molecules, in which each atom is bound to
the other three atoms by a single bond.
Permanent hardness of water is due to-

qreY Y TARN FSRAT Y I91E &:

(@) Chlorides and sulphates of Calcium and .

Magnesium / &ferra# 3R FAafRaam &




18.

19.

20.

FARTSS 3R Towre

(b) Calcium bicarbonate sulphates / &forras
fPRee Tethed
(c) Magnesium bicarbonate / #¥AfRTs

EIEEICIE

(d) Clorides of Silver and Potassium / f&eax
3R defs & FaREEE

Ans.(a) Permanent hardness in water is
hardness due to the presence of the chlorides
and sulphates of calcium and magnesium
The pH-value for water is-

9r=Y T pH-ATT & -

(a) Nearly zero / SITHaT [

(b) 7/ 7

(c) 5 orless than 5 /5 a1 5 & &

(d) 8.7 or more / 8.7 T 3%

Ans.(b)Sol. The pH value of pure water is 7.
Pure water is neutral by nature. The solution
with a pH less than 7 are said to be acidic and
solutions with a pH greater than 7 are basic or
alkaline.

Water is a good solvent of ionic salts
because-

9T ATAfAE FIOT FT T ST RAIF § FhiH-

(a) It has a high boiling point / 38T 3=
FAYATH ¢

(b) It has a high dipole moment / 85 T& 3Td
gfaTa et &

(c) It has a high specific heat / s&@ 3Ta
fafRrc aa g

(d) It has no colour / SHHT IS LT AL &

Ans.(b)Sol. Water is a good solvent due to its
polarity which can easily dissolve into polar
compounds. Water dissolves ionic salts by
hydrating their component ions. For example,
water dissolves NaCl by hydrating and stabling
the Na+ and Cl- ions.

Large quantities of drinking water is
prepared from impure water by-

3G 9Tl F i F qrel Ay @Y AT B frwd @
R T ST -

(a) Desalination / faer@ofraor

(b) Distillation / 3maaet

(c) Ion-exchange / 3ma« RAfaT

(d) Decantation / fAEaRoT

Ans.(a)Sol. Desalination is a process that
removes minerals from saline water (Also refer
to removal of salts and minerals). Seawater
desalination has a very effective way of
production of potable water for drinking and
industries.

(36)
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22,

23.

24,

Alkali metals can -

eHTell UTIT-

(a) Be highly stable at room temperature/ a3
& AT W Acafs R | g

(b) Vaporize at room temperature/ R &
TIHT 9T aTSdIhel g1 STl &

(c) Easily gain electrons/ 3Tt & SAFeisT UTcd
A &

(d) Easily lose electrons/ 3THTT & Selareisl @
o g

Ans.(d)Sol. Alkali metals have one electron in
their outer shell so alkali metal can easily lose
electrons.

What does a catalyst do in a reaction?

TH 3ARE IfaAfhar & Far FIar §

(a) Changes potential energy of reactants/
gfafsranait fr fufas ST sgerar §

(b) Changes kinetic energy of reactants/
grafsranstt $r aifaeher a1 serar &

(c) Changes potential energy of products/
3carel $r Feafas Fat seordr &

(d) Changes activation energy/ GfshaoT Fair

Jeordl &

Ans.(d)Sol. Catalysis is the increase in the
rate of a chemical reaction due to the
participation of an additional substance called
a catalyst, which is not consumed in the
catalyzed reaction and can continue to act
repeatedly. Thus, changes activation energy
Adding which substance gives green
colour to glass?

et AT 9ETS TATH T & T AT 82

(a) Calcium oxide/ Shferraa 3ifearss

(b) Iron oxide/ 3R 3iTeFaTss

(c) Chromium oxide/ IAIA HFaES

(d) Manganese oxide/ #a=iieT 3iTFarss
Ans.(c)Sol. Chromium oxide is used to create
green glass

Which among the following is present
inside the nucleus of an atom?

frrfaf@a #F ¥ Fi v WAy F AfAF F e

st g 2

(a) Protons and Neutrons /sitelet 3R =ggier

(b) Electrons and Protons /3elaele 3R WieleT

(c) Neutrons and Electrons /=ggisl 3iR Selercla

(d) Neutrons, Protons, Electrons /gie, Weld,
gelergiel

Ans.(a)Sol. There are two types of particle in

the nucleus of an atom the proton and the
neutron




25.

26.

What is baking soda?
afFer Asr FAT 2
(a) Aluminium bicarbonate /TegfAfaTs

CIECICI G
(b) Sodium isolate /&If3T# 3MSdTT
(c) Sodium bicarbonate /&f3JH SgFElAe
(d) Aluminium sulphate /TegfAfATH Hothe

Ans.(c)Sol. Baking soda is also known as
Sodium bicarbonate. It is a chemical
compound with the formula NaHCO;. It is a
salt composed of sodium ions and bicarbonate
ions. Sodium bicarbonate is a white solid that
is crystalline but often appears as a fine
powder

Match List I (Compound) with II (Nature)
and select the correct answer using the
code given below the Lists:

FHI (Compound) 1 gt IT (Nature)d e
Ao 3 gt F @R e 713 Fet F1 g3 w=F
3YYFA el HT T HfSA:

List-I List-II

A. Sodium hydroxide/ 1. Strong acid/

B. Calcium oxide/ 2. Alkali/

C. Acetic acid/ 3. Weak acid/

D. Hydrochloric acid / 4. Base/

-1 gar-11

A. Af3TH grssiFass 1. 9&ol 3Fol
B. Shfers 3farss 2. Vohalls
C. afes vfas 3. guel 3T
D. gBglFdiRe Ufas 4, &R
Code:ABCD

(a)2341 (by2431
(c)1432 (d)1342

Ans(b) Sol. Sodium hydroxide is a highly
caustic base and alkali that decomposes
proteins at ordinary ambient temperatures and
may cause severe chemical burns. Calcium
oxide is base and Acetic acid is a weak
monoprotic acid. Hydrochloric acid is strong
acid.
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27.

28.

29,

30.

Curd is sour due to presence of

&1 3ufeyfy & FRor g @z @ B

(a) Citric Acid/fafes tias

(b) Lactic Acid/afFes tfas

(c) Acetic Acid/tfafes tfas

(d) None/®s =Tgt

Ans(b) Sol. Sour taste is due to the
production of lactic acid by Lactobacillus
bacteria (LAB). These bacteria convert lactose
in milk to lactic acid.

Which one is weak acid?

ool 3F FieT AT 8?2

(a) Citric acid/fafes vfas

(b) Hydrochloric acid/grssieaiRe Tias

(c) Sulphuric acid/ge%Re v

(d) Nitric acid/=sfee vfas

Ans(a) Sol. Citric acid is weak acid.
Rancidity can be defined as oxidation of
fats and oils that changes

A fzd w qar sk A&t & e F v &
TR fRaT ST Fhar § o aRafda gar 21
(a) Only the taste of food/&ad HIsle &1
g

(b) Only the smell of food/shde HISTeT &I ITET
(c) Both taste and smell of food/#steT &T
Farg AR rer g

(d) Only the color of food/aaer HIsTeT T T
Ans(c) Sol. Rancidity can be defined as
oxidation of fats and oils that changes both
taste and smell of food.

The pH value of a sample of multiple-
distilled water is

TG ST & FAHaA $T AT AL ¢-

(a) zero/=T

(b) very near to seven/drd & e

(c) very near to zero/=d & faishe

(d) 14

Ans(b) Sol. Pure distilled water should be
neutral with a pH of 7.
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1.

The mulberry fruit is :

IEad FT Hl FATR?

(a) Sorosis /ARIFAT (b) Syconus / AEHIAT
(c) Samara /¥ART (d) Nut /&c¢

Ans.(a) Sol. The mulberry fruit is also known
as the Sorosis. Sorosis is a multiple fleshy
fruits that is derived from the ovaries of
multiple flowers. The seeds are achenes, on
the outside of a fleshy fruit. Pineapple and
Ficus are also the example of Sorosis fruit.
Which one of the following groups of
organisms has significance in diagnosing
the death by drowning?

et & gt § gl arelt g & faemar & farafaf@a
THel # ¥ FeT |1 Agar 8.

(a) Lichens / oliSehet

(b) Protozoa / HieISi3T

(c) Cyanobacteria / Gs=ilseeriar

(d) Diatoms / sTgeH

Ans.(d) Sol. Diatoms are useful in forensic
studies. It has significance in diagnosing the
death by drowning. Diatoms are
photosynthetic algae and are found in almost
every aquatic environment including fresh and
marine waters, soils and almost at every
humid place.

Leg-haemoglobin is found in-

AT-EAHAIT g & 9T ST 82

(@) Human blood / AT J&d

(b) Rabbit blood / W@Ta?@ﬁﬁ

(c) Legume root nodules / oagH &< HAggel

(d) Chicken blood / fdehsT T&T

Ans.(c) Sol. Leg-haemoglobin is found in root
nodules of leguminous plants such as alfalfa
and soyabean.

Desert plants are generally-

Ifreare gl sme dt ) F A E2
(a) Viviparous / fafaura

(b) Succulent / I[geR Gter

(c) Herbaceous / gm&@

(d) Heterophyllous / faf#e= gofrr

Ans.(b) Sol. A succulent is a plant that
stores water for times when water is not
available to it. Succulent plants are
generally found in arid environments
such as deserts and semi-deserts.

A group of archaebacteria is used in the
production of-

Irfqare AT 1 @ fFe & 3caree F 3adT

T AT 8?2

(a) Ethane / t¢a  (b) Methane / #d=

(c) Acids / tf@E  (d) Alchohols / 3ealge
Alpha-keratin is a protein, present in:
FeH-FRT THE N, A A A
(a) Blood(¥&d)(b) Skin(cadr)

(c) Lymph(eriishT) (d) Eggs(3i3)

Ans.(b) Sol. Alpha-keratin is a family of
fibrous structural proteins. It is the key
structural material making up the outer layer
of human skin. It is the key structural
component of hair, nails, hooves, and it
provides the necessary strength and
toughness for masticatory organs, such as the

tongue and the hard palate.
One of the following is most suitable for

study of mutations ? ¥ & IeqqT & faw

T 7 @ o 3UgFA § ?

(a)Haploids(gcalissH) (b)Diploids(fsTeizsa)

(c)Tetraploids(cgreaiizssd) (d)Polyploid (dreicals)

Ans.(a) Sol. Haploids

Linseed is a rich source of- 3ra¥ fFa®T &

G AT 82

(a) Vitamin C(faerf@= C)

(b) Omega-3 fatty acid (39T -3 %t Thag )

(c) Essential amino acids(difcaes A= 31Fe)

(d) Antioxidants(T&r3iTeaSe)

Ans.(b) Sol. Linseed is a food and fibre crop
that is grown in cooler regions of the world.
The oil is extracted from its seed, known as
lineseed oil, which is a very good source of
omega 3 fatty acid, which is able to prevent

the deposition of fat in blood vessels.
Which one of the following is not a

protein? s ¥ FiT A1 N T 82

(a) Keratin(@feaT)(b) Fibroin(fhsiss )

(c) Oxytocin(3iedeif@s )(d) Collagen(Hreisis)
Ans.(c) Sol. Oxytocin has been best known
for its role in female reproduction. It is
released in a large amount during labour and

after stimulation of the nipples. It is a
facilitator for child birth and breast feeding.

Oxytocin plays an important role in the
neuroanatomy of intimacy, specifically in
sexual reproduction of both sexes, in

particular during and after childbirth. It is also
known as love hormone and as the “bonding
hormone”.

10. Pulses are a good source of ?

arell fFET T 3T AT 82




11.

12.

13.

14.

15.

16.

(a)Carbohydrates(&mefgrsse)(b)Fats(a4rm)
(c)Proteins(WErT)(d)Vitamins(faerfasT)

(c)Sol. Proteins
Which hormone stimulates the thyroid

gland to secrete thyroxine? Amfaf@a & &
FieT A1 gAfT arRiFHT wifad & e gEss s

Y 3EcT FIT 82

(@) TSH (b) FSH (c) LTH (d) ACTH
Ans.(a) Sol. Hyroid-stimulating hormone
(also known as thyrotropin, thyrotropic

hormone, TSH) is a pituitary hormone that
stimulates the thyroid gland to produce
thyroxine (T4), and then triiodothyronine (T3)
which stimulates the metabolism of almost
every tissue in the body.

Bile is produced in which part of the

body? fcd &1 3cqrest R F fFH s 7 gt 82
(a) Liver(eliay ) (b) Gall bladder(fcarer)
(c) Spleen(%eligT ) (d) Pancreas(33=-amr)

Ans.(a) Sol. Bile is a fluid that is made and
released by the liver and stored in the
gallbladder. It is stored and concentrated in
the gallbladder unit which is needed to digest
food. In adults. The gallbladder measures
approximately 8 centimetres in length and 4
centimetres in diameter.

The normal temperature of the human
body is ? AT R FT AT ATIATT § —

(@) 37 °C (b) 98 °C (c) 367 K (d) 90 °C
Ans.(a) Sol. The average of normal
temperature of human body is 98.4°F (37°C).
MRI is a diagnostic tool, which means-
MRI T q0F 7 8 ?

(a) Magnetic Resonance Index

(b) Magnetic Resolution Information

(c) Magnetic Resonance Imaging

(d) All the above(3uRiad T3 )

Ans.(c) Sol. Magnetic resonance imaging
(MRI) is a test that uses magnetic field and
pulses of radio wave energy to make pictures
of organs and structures inside the body.
Ergotism is due to consumption of ?

SIS R 3TN F FROT ghar 82

(a) Contaminated grains(gf¥d 3f=rsT )
(b) Rotting vegetables(s&R Ffesral)

(c) Contaminated water(gf¥d qrei)

(d) Safe cooked food(g?f%?-rqaw“g"(f #isteT)

Ans.(a) Sol. Ergotism is a disease caused by
consumption of contaminated grains. It is the
effect of long-term ergot poisoning,
traditionally due to the ingestion of the
alkaloids produced by the Claviceps purpurea
fungus that infects rye and other cereals.
What amongst the following is
responsible for the formation of stone in
the human kidney?

AT &1 # Tl & a1 & v afaf@a # @
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17.

18.

19.

20.

a1 fFAER 8?2

(a) Calcium acetate /&R Tdee
(b) Calcium oxalate /&HTeRIa 3iTFdee
(c) Sodium acetate /aif3T#d Tdice
(d) Sodium benzoate /AIf3T# §alive

Ans.(b) Sol. Calcium Oxalate is a chemical
compound that forms envelope shaped crystals,
knownin plants as raphides. Amajor constituent
of humankidney stonesis calcium oxalate.

In the human body, which structure is the
appendix attached to?

Aterd R A, Fler T wewen § snifdaw 37 etar 82

(a) The large intestine /&3Y 31

(b) The small intestine / ®IEY 37d

(c) The gall bladder / e #ameT

(d) The stomach / 3mAR™

Ans.(a) Sol. The appendix is a blind-ended

tube connected to the Caecum-pouch, that is

considered to be the beginning of the large

intestine from which it develops

embryologically. The Caecum is a pouch-like

structure of the colon, located at the junction

of the small and the large intestines.

Nutraceuticals are products which have-

g d 391G § forea gid 8-

(a) Nutrients vitamin and minerals /99 dca
IERIGGEIFREIGE

(b) Nutrients protein and fatty acids /9Iv& dca
Il AR e Tfias

(c) Nutrient and toxic effect /aIwe dca 3R
IERIESRUEIC]

(d) Nutrient and medicinal effect /9% dca 3R
3itwelT gara

Ans.(d) Sol. The term “nutraceutical” is used
to describe any food or part of food
supplements that offers a medical or health
benefit beyond simple nutrition. Such benefits
many include the prevention or recurrence of
the disease.

Cyanocobalamin is-

TIATRIETATR &-

(a) Vitamin C (b) Vitamin B_2

(c) Vitamin B_6 (d) Vitamin B_12
Ans.(d) Sol. Vitamin B_12 (Cyanocobalamin)
is a water soluble vitamin. It contains a
metallic ion cobalt. Its chemical formula is
C_63 H_88 CoN_140_14 P.

Which of the following vitamins contains
cobalt?

fafaf@a & @ #ia ¥ @ & Feee ar?
(a) Vitamin K (b) Vitamin B_12

(c) Vitamin B_6 (d) vitamin B_2
Ans.(b) Sol. Vitamin B_12 (Cyanocobalamin)
is a water soluble vitamin. It contains a
metallic ion cobalt.
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3¥iIaeI | ECONOMICS

25 MCQ'S 31id #gragdl Gee1| Most Important Questions

1. The major aim of a country to devalue its
currency is:

Tt Sor &1 3raell e F IHaHEAT FT YT 32T FAT
g g?

(a) encourage imports/ 3TATd &I GcdTied HIAT
(b) discourage both exports and imports/

T 3R 3maTa =t @ garcaTfed T
(c) encourage both exports and imports/ aTd
3R 3T St T AeATR FLAT
(d) encourage exports/ fAaTd #r caTied =T
Ans.(d) Sol. Devaluation is the deliberate
downward adjustment of the value of a
country’s money relative to another currency,
group of currencies, or currency standard.
Devaluation reduces the cost of a country’s
exports, rendering them more competitive in
the global market.
2. The internal prices during Devaluation
usually :
IMAAR W G eq F aRTeT Al Hrd:
(a) fall/ARcr &
(b) rise/gf& Bl &
(c) remain unchanged/ H1$ deaTa &l gfar
(d) None of the above/3=13 & HI§ 7T

Ans.(c) Sol. Devaluation is the deliberate
downward adjustment of the value of a
country’s money relative to another currency,
group of currencies, or currency standard. It
has effects on a country’s international trade
by alluring traders. But internal prices remain
unaffected.
3. Dear money refers to money with-

3R A F1 P YHR ¥ Hewr @2

(a) low rate of interest/ sITST I e &
(b) high rate of interest/ saTT &1 3T &3
(c) depression/ 31ddre

(d) inflation / 'ﬂmtﬁﬁ

Ans.(b) Sol. Dear money refers to money
that is hard to obtain because of abnormally
high interest rates.

4. Narrow money is a category of money

supply that includes: %Y 7=, ¥ #r amqfet #

s Aot § Srws Far nfae §2

(@) The sum of currency in circulation and the
demand deposits in banks/ #gT & Heele 3R

St 7 3ATE BUfad & Irer
(b) The sum of MI money and the time

deposits/ MI a1 3R erga Bfaa #r Jier

(c) The market value of the stocks held by all
the holders excluding the promoters/
JATEIT &l BISHT T YR GaRT TW 1T AT

HT TSI Hed

(d) None of these/3+13] & IS AGT

Ans.(a) Sol. Narrow money is a category of
money supply that includes all physical money
such as coins and currency, demand deposits
and other liquid assets held by the central
bank.

. A specified minimum fraction of the total

deposits of customers, which commercial
banks have to hold as reserves either in
cash or as deposits with the central bank
is called the-

AT T Tl STATIHT FT v fAfése sgera s, S

Fiofoas 31 & g9 a1 at AFg F T H IR@T

TGAT 81T § AT FET S & 9 FAT F ™ H, 39 F1

FET AT 872

(a) Variable Reserve Ratio/ aRad=a 3Rf&a
37T

S

(b) Cash Reserve Ratio/ ehe 3TRT&TT 3e]drel
(c) Statutory Liquidity Ratio/ arfafe dr
37eTard

S

(d) Minimum Reserve Ratio/ #geTc# RT&TA
K GEIG)

S

Ans.(b) Sol. Cash Reserve Ratio (CRR) is a
specified minimum fraction of the total
deposits of customers, which commercial
banks have to hold as reserves either in cash
or as deposits with the central bank. CRR is
set according to the guidelines of the central
bank of a country.

. "Legal Tender Money” refers to :

“olrer &3 A P & aFafaa g2
(a) Cheques/ d&

(b) Currency notes/ #gT #le

(c) Drafts/ gsroe

(d) None of these/3=131 & HIS 7T

Ans.(b) Sol. Legal tender is any official
medium of payment recognized by law that
can be used to extinguish a public or private
debt, or meet a financial obligation. The
national currency is legal tender in practically
every country.

. The terms ‘bear’ and ‘bull’ are used to

describe general actions and attitudes
related to which of the following




10.

11.
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commercial activity ?
‘bear’ 3 ‘bull’ arsg FT YW 7T H & Fw

Fifsas afafafr ¥ gafta e Bramsi sk
TiepIor T guia F= F farw Ry sirar 82

(a) Banking/ dfear

(b) E-commerce/ §-Frad

(c) International trade/ 3cRTSERT SATIR

(d) Stock market/ =R SR

Ans.(d) Sol. The terms bear and bull are
used to describe general actions and attitudes,
or sentiment, either of an individual or the
market. A bear market refers to a decline in
prices, usually for a few months, in a single
security or asset, group of securities or the
securities market as a whole. A bull market is
when prices are rising.

Gresham'’s law is related to

e F1 Agw FES e 82

(a) Consumption and demand/ 398{ter 3iX FfaT
(b) Supply and demand/ 3mqfet 3T Hiar

(c) Circulation of money/ % & Haole

(d) None of these/3A# & IS =Tgl

Ans.(c) Sol. Gresham’s law is a monetary
principle stating that “"bad money drives out
good.”

Who are the creditors of a Corporation ?

A & deER Fia §2

(a) Bond holders/ df=g tIRe&

(b) Stock holders/ Teish UR®

(c) Both Bond and Stock holders/ dies 3R Tei®
At RS

(d) None of these/s+T37 & FIS g

Ans.(c) Sol. A creditor is an entity (person or

institution) that extends credit by giving

another entity permission to borrow money

intended to be repaid in the future.

Shareholders are those who own stock in a

company, whereas bondholders are those who

own bonds issued by a company.

What is USP in marketing field?

fRqurer 837 & USP Fam8?

(@) Uninterrupted power supply

(b) Universal standards of production

(c) US Programme based

(d) Unique Selling Proposition

Ans.(d) Sol. Unique Selling Proposition or
USP is the one feature or the perceived benefit
of a good which makes it unique from the rest
of the competing brands in the market. It is
that very reason which motivates a buyer to
purchase that product even though it might be
costlier than other products.

‘Galloping Inflation’ is also known as

i geFae FEH
oft ST ST ¥

12,

13.

14.

15.

(a) Walking Inflation/ &fief Feredhifer
(b) Hyper Inflation/ 88T SeFeleld
(c) Running Inflation/ alsdr &hifa

(d) Normal Inflation/ |TH=T HerEhIfcr

Ans.(b) Sol. Galloping inflation is also called
hyper inflation. It is that type of inflation in
which the price of good increases two or three
digit per annum. It is also known as jumping
inflation. Hyperinflation is extremely fast or
out-of-control inflation. Hyperinflation occurs
when price increases are so wild that the
concept of inflation is meaningless.

Curve describing the variation of
household expenditure on a particular
good with respect to household income is

known as ? TR 3T ¥ FaH F v fay qeAreT
W e TF Hr [Aferar F1 avia w9 9 g w e
T H ST STt 82

(a) Phillips curve/ frferca as

(b) Engel curve/ TaTel ash

(c) Great Gatsby curve/ 3T icadt am

(d) Supply curve/ 3Tqfd a%

Ans.(b) Sol. Engel’s Law is an economic
theory introduced in 1857 by Ernst Engel, a
German  statistician, stating that the
percentage of income allocated for food

purchases decreases as income rises.
Malthusian theory is associated with?

Arcufaa fRga e & grafrua €2
(a) Population/ SeTa@ar

(b) Employment/ ISR

(c) Diseases / 9T

(d) None of these/3a1# & HI$ aTeT

Ans.(a) Sol. The Malthusian Theory of
Population is a theory of exponential
population growth and arithmetic food supply
growth.

What happens when there is a demand

deficiency in an economy? 39 U rdeagear
# AT 1 FHAT gt § A FAT T 82

(a) Poverty / efeTar

(b) Stagnation/ f&2Rar

(c) Recession / #dr

(d) Inflation/ FeredhIfcr

Ans.(b) Sol. Stagnation is a situation that
occurs within an economy when total output is
either declining, flat or rising slightly.
Consistent unemployment is also a
characteristic of a stagnant economy.

Which of the following market is related
to Backward bending supply curve?

farafaf@a # @ Fi @1 o fi A 3R g3 ge
rqfel @ & wafta 82




16.

17.

18.

19.

(a) Capital / 9ot (b) Real estate/ Rl t&ee
(c) Money /Hgar (d) Labour/ s1#H

Ans.(d) Sol. The backward-bending labor
supply curve. This supply curve shows how the
change in real wage rates affects the number
of hours worked by employees.

Which of the following curve shows the
inverse relationship between
unemployment and inflation rates ?

foret F & Fler 71 33 AW R FEEhfy T F
Ao Rdd Tay F geiiar §?

(a) Supply curve/ 3mqfd a%

(b) Indifference curve/ 3&rEd a%

(c) IS curve / IS as%h

(d) Phillips curve/ fsfercq as

Ans.(d) Sol. The Phillips curve shows the
inverse trade-off between rates of inflation
and rates of unemployment.

Excise duty is levied on

3cTE e e IR STAT ST B2

(a) export of goods/ ATel FT AT

(b) production of goods/ ATl & 3cUlGad
(¢) import of goods/ AT T IT—ATT

(d) None of these/3A# & IS =Tgl

Ans.(b) Sol. An excise or excise tax is a type
of tax charged on goods produced within the
country. It is a tax on the production or sale of
a good.

A tax paid by a person who inherits
money or property or a levy on the estate
(money and property) of a person who
has died is known as?

UF SAfFd G@RT S[aTaTet R T T St 4 A wufed
a1 farad # fAen § a1 39 sgfea i gufea (= 3k
HYfed) 9T ST AT § Y AT ITAT § 3W FAT Fgd
&

(@) Income Tax/ 3TIHT

(b) Inheritance tax / faad T

(c) Gift tax / 39gR &

(d) Sales tax/ fashr &

Ans.(b) Sol. An inheritance or estate tax is a
tax paid by a person who inherits money or
property or a levy on the estate (money and
property) of a person who has died.

The Lorenz curve is a graphical
representation of?

AN aw frue Ry vl @2
(a) Poverty/ faefarar

(b) Unemployment/ SRISTTIRY

(c) Income distribution/ 3m faaror
(d) Population/ Si=gEaT

Ans.(c) Sol. The Lorenz curve is a graphical
representation of income inequality or wealth

(42)

20.

21.

22.

23.

24.

25,

inequality developed by American economist

Max Lorenz in 1905.

Which of the following is a tertiary

activity?

frrafaf@a F & 71 ve qolias afafafr 22

(a) Farming/ @dr (b) Manufacturing/ fafa&Tor

(c) Dairying/ 3%t (d) Trading/ samdR

Ans.(d) Sol. Trading is an active style of

participating in the financial markets that

seeks to outperform traditional buy-and-hold

investing. A trader is person or entity, in

finance, who buys and sells financial

instruments such as stocks, bonds,

commodities, derivatives, and mutual funds in

the capacity of agent, hedger, arbitrageur, or

speculator.

When the cash reserve ratio (CRR) is

increased by the RBI, it will:

(a) Increase the supply of money in the
economy

(b) Decrease the supply of money in the
economy

(c) No impact on the supply of money in the
economy

(d) Initially increase the supply but later on
decrease automatically.

Ans.- B

Which of the following is not the monetary

tool?

(a) CRR

(b) SLR

(c) Deficit financing

(D) Open market operations

Ans. -C

What is the target (in terms of GDP) of Fiscal
Deficit for FY 2019-207

(@) 3.1% (b) 3.5%

(c) 3.4% (d) 4.4%

Ans. - C

Which of the following statements is true?

(a) Revenue deficit is estimated to be 3.4% of
GDP in the budget

(b) The fiscal deficit is estimated to be
targeted at 3.1% of GDP.

(c) In the budget estimates, the target is to
prevent the primary deficit to 0.2% of
GDP.

(d) (d) All the above mentioned statements
are correct.

Ans. -D

If a person is ready to work at the prevailing

wage rate in the market, but he is unable to

find the work, then what type of
unemployment would it be called?

(@) Voluntary unemployment

(b) Involuntary unemployment

(c) Seasonal unemployment

(d) None of the above

Ans.-B
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